
BIOLOGY

BOOKS - ARIHANT NEET BIOLOGY (HINGLISH)

HUMAN REPRODUCTION

Check Point 3 1

1. Which of the following is not a secondary sexual feature in males ?

A. Low pitched voice

B. Beared and moustache

C. Muscular build up

D. Absence of facial hair

Answer: D

W t h Vid S l ti

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_i0ZsT907klEe


Watch Video Solution

2. The structure that helps scrotum to remain in connected with pelvic

cavity is

A. inguinal canals

B. cremaster muscles

C. connective tissue

D. dartos muscles

Answer: A

Watch Video Solution

3. Which of the following protective covering helps in partitioning and

dividing interior of testies to labules ?

A. Tunica vasculosa

https://dl.doubtnut.com/l/_i0ZsT907klEe
https://dl.doubtnut.com/l/_LkmovRpErsgv
https://dl.doubtnut.com/l/_p164h71Fpb3x


B. Tunica albuginea

C. Tunica vaginalis

D. Tunica recti

Answer: B

Watch Video Solution

4. The condititon in which testes fail to descend is known as

A. orchitis

B. cryptorchidism

C. hydrocoel

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_p164h71Fpb3x
https://dl.doubtnut.com/l/_Lw83Luakns8n
https://dl.doubtnut.com/l/_7isWGETHMJol


5. These cells help in negative feedback control of sperm

A. Leyding cells

B. Sertoli cells

C. spermatogenic cells

D. germ cells

Answer: B

Watch Video Solution

6. What of the following is/are the consituent of seminal fluid ?

A. Fructose

B. Prostaglandins

C. Citrate inositol

D. All of these

https://dl.doubtnut.com/l/_7isWGETHMJol
https://dl.doubtnut.com/l/_6QEU7kBxwwam


Answer: D

Watch Video Solution

7. Sceretion of which gland nourish and activate spermatozoa to swim

A. vasa efferentia

B. pituitary gland

C. prostate gland

D. cowper's gland

Answer: C

Watch Video Solution

8. The average pH of semen is

A. 6.5

https://dl.doubtnut.com/l/_6QEU7kBxwwam
https://dl.doubtnut.com/l/_AkdlMpsrptT5
https://dl.doubtnut.com/l/_pDQKZFYQKb7H


B. 7

C. 

D. 6

Answer: C

Watch Video Solution

7.5

9. The bulk of semen is usuall

A. seminal vesicle fluid

B. spermatazoa

C. spermatid

D. alkaline mucus

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_pDQKZFYQKb7H
https://dl.doubtnut.com/l/_NAZMzaeQburS
https://dl.doubtnut.com/l/_Fz91lK87WYkt


Check Point 3 2

10. At what temperature sperm are presserved ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−100∘ C

20∘ C

50∘ C

10∘ C

1. The primary sex organs of a woman is

A. cervix

B. ovary

C. vagina

https://dl.doubtnut.com/l/_Fz91lK87WYkt
https://dl.doubtnut.com/l/_vorMvrkWVAgg


D. uterus

Answer: B

Watch Video Solution

2. Ovaries remain attached to abdominal wall by

A. peritoneum

B. mesovarium

C. tunica albuginea

D. mesothelium

Answer: B

Watch Video Solution

3. The winder part of aviduct is called

https://dl.doubtnut.com/l/_vorMvrkWVAgg
https://dl.doubtnut.com/l/_Dw7C0LNkGLMY
https://dl.doubtnut.com/l/_Y9zo4929M5If


A. isthmus

B. infundibulum

C. fimbriae

D. ampulla

Answer: D

Watch Video Solution

4. Which of the following layers of the tissue is shae3d as menses during

menstrual cycle ?

A. Perimetrium

B. Myometirum

C. Endometrium

D. Both (a) and (b)

Answer: C

https://dl.doubtnut.com/l/_Y9zo4929M5If
https://dl.doubtnut.com/l/_ZRkH5nSc1hkZ


Watch Video Solution

5. The anterior most structure of vulva is

A. labia minora

B. labia majora

C. mons pubis

D. hymen

Answer: C

Watch Video Solution

6. The production of milk is stimulated by

A. oxytocin

B. prolactin

C. estorgen

https://dl.doubtnut.com/l/_ZRkH5nSc1hkZ
https://dl.doubtnut.com/l/_7LuExswsoAP9
https://dl.doubtnut.com/l/_OrpmNhvyxPgH


D. progesterone

Answer: B

Watch Video Solution

7. The protein is present in the milk secreated by mammary glands

A. lactose

B. renin

C. casein

D. None of these

Answer: C

Watch Video Solution

8. The pigmented area present in each mammary gland.

https://dl.doubtnut.com/l/_OrpmNhvyxPgH
https://dl.doubtnut.com/l/_J9zJOFdfN87x
https://dl.doubtnut.com/l/_BrKNZQYNt3Xf


A. sweat gland

B. ampulla

C. lactiferous duct

D. areola

Answer: D

Watch Video Solution

9. Scrotal sac in males is homologous to ..... In females.

A. clitoris

B. glans clitoris

C. labia majora

D. labia minora

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_BrKNZQYNt3Xf
https://dl.doubtnut.com/l/_9mLuaw9HFAwX


Check Point 3 3

10. Glans clitors of female reproductive system is homolagous to

A. prostate gland

B. penis

C. Cowper's gland

D. Glans penis

Answer: D

Watch Video Solution

1. Spermatids are produced as a result of

A. spermiogenesis

B. meiosis-I

https://dl.doubtnut.com/l/_9mLuaw9HFAwX
https://dl.doubtnut.com/l/_o1HEHaNyxcfK
https://dl.doubtnut.com/l/_IOPPJySZjX45


C. melosis-II

D. spermatocytogenesis

Answer: C

Watch Video Solution

2. Spermiogenesis changes

A. spermatogonium to primary spermatocytes

B. primary spermatocytes to secondary spermatocytes

C. secondary spermatocytes to spermatids

D. spermatids to sperms

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_IOPPJySZjX45
https://dl.doubtnut.com/l/_cb64ZQLlmSWT


3. The process of release of sperms from seminiferous tubule is know as

A. spermiation

B. spermiogenesis

C. spermatogenesis

D. None of these

Answer: A

Watch Video Solution

4. A mature spermatozoa is ... m is diameter.

A. 

B. 

C. 

D. 

μ

10 − 15

15 − 20

2 − 5

0, 1 − 1

https://dl.doubtnut.com/l/_Xj7S2Z7ySPWr
https://dl.doubtnut.com/l/_6ewcTKrbvYj0


Answer: C

View Text Solution

5. Middle piece of mammalian sperm possesses

A. mitocheondria

B. centriole only

C. acrosome

D. nucleus and mitochondria

Answer: A

Watch Video Solution

6. Sperm lysins in acrosome are

A. Hyaluronidase

https://dl.doubtnut.com/l/_6ewcTKrbvYj0
https://dl.doubtnut.com/l/_rQAgI2vYw2HS
https://dl.doubtnut.com/l/_LCw3yZRVwkN9


B. proteinase

C. Both (a) and (b)

D. None of these

Answer: C

Watch Video Solution

7. The activity of FSH during spermatogenesls is suppresed by

A. inhibin

B. androgens

C. prolactin

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_LCw3yZRVwkN9
https://dl.doubtnut.com/l/_7AQVfE51oboT
https://dl.doubtnut.com/l/_GDR5MWgpSwHn


8. The process of spermatogenesis and sperm differentiation are under

the control of homones

A. FSH only

B. LH only

C. parathyroid hormone

D. Both (a) and (b)

Answer: D

Watch Video Solution

9. Graafian foilicle is formed with the action of

A. FSH

B. LH

C. GnRH

D. oxytocin

https://dl.doubtnut.com/l/_GDR5MWgpSwHn
https://dl.doubtnut.com/l/_Zfn3079MRfAI


Answer: A

Watch Video Solution

10. The mature cocytes are ettached to the wall of follicle with the help of

A. endometrium

B. corpus luteum

C. cumulus oophorus

D. zona pellucida

Answer: C

Watch Video Solution

11. Which of the following does not have any role in oogenesis ?

A. polar body

https://dl.doubtnut.com/l/_Zfn3079MRfAI
https://dl.doubtnut.com/l/_FFFpVYDuhYV5
https://dl.doubtnut.com/l/_NqRZ7xXtWU3a


B. oocyte

C. corona radiata

D. FSH

Answer: A

Watch Video Solution

12. Which of the following does not from the covering of ovum ?

A. Zone pellucida

B. Inner membrane

C. Corona radiata

D. External membrane

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_NqRZ7xXtWU3a
https://dl.doubtnut.com/l/_dc6pAnpwTqUW
https://dl.doubtnut.com/l/_uxnRGuavLoQa


13. The lower pole of ovum is known as

A. vegetal pole

B. animal pole

C. transitory pole

D. None of these

Answer: A

Watch Video Solution

14. Estrous cycle is a characteristic of

A. human females

B. mammalian females

C. primate females

D. non-primate females

https://dl.doubtnut.com/l/_uxnRGuavLoQa
https://dl.doubtnut.com/l/_hS7ypcm9ZXA9


Check Point 3 4

Answer: D

Watch Video Solution

15. Loss of reproductive capacity in women after age of 45 years is

A. menstrucation

B. ageing

C. menopause

D. menarche

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_hS7ypcm9ZXA9
https://dl.doubtnut.com/l/_vQaQhXYoIM4q


1. The process of deposition of sperm in the vagian during sexual

intercourse is called

A. fertilisation

B. insemination

C. capacitation

D. None of these

Answer: B

Watch Video Solution

2. A glycoportein or acid mucopolysccharide present in the surface layer

of egg is

A. fertilizin

B. antiferitizin

C. Both (a) and (b)

https://dl.doubtnut.com/l/_4mmF9H8flwgq
https://dl.doubtnut.com/l/_HSyJSLJPNlSS


D. None of these

Answer: A

Watch Video Solution

3. Cleavage in mammals is:

A. superficial

B. discoidal

C. holoblastic equla

D. holoblastic unequal

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_HSyJSLJPNlSS
https://dl.doubtnut.com/l/_Hg5McFdhuOYk


4. Cells of trophoblasts which remains in contact with inner cell mass are

called

A. Sertoli cells

B. interstitial cells

C. sperm cells

D. cells or Rauber

Answer: D

Watch Video Solution

5. Gastrulation comprises

A. diffeerentiation of archenteron

B. morphogenetic moverments

C. differentiation of three germ layers

D. All of the above

https://dl.doubtnut.com/l/_gpWJB0QV4A3p
https://dl.doubtnut.com/l/_LHAzLXMvGRbO


Answer: D

Watch Video Solution

6. The morphogenetic movements occur during

A. blastulation

B. cleavage

C. gastrulation

D. implantation

Answer: C

Watch Video Solution

7. Which of the following is an extraembryonic membrane?

A. Amnion

https://dl.doubtnut.com/l/_LHAzLXMvGRbO
https://dl.doubtnut.com/l/_uwgUrcbWltEH
https://dl.doubtnut.com/l/_wW5Nyrmxf8gr


B. Allantois

C. Chorion

D. All of theses

Answer: D

Watch Video Solution

8. The gestation perod of panther is

A. 93 days

B. 20 days

C. 106 days

D. 266 days

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_wW5Nyrmxf8gr
https://dl.doubtnut.com/l/_M0GfBPJForaV
https://dl.doubtnut.com/l/_xXs45OLOUcGR


9. Homone sereated by pituitary which facilitates parturiation

A. oxytocin

B. LH

C. relaxin

D. estradiol

Answer: A

Watch Video Solution

10. By the end of week 12 foetus is ..... Mm long.

A. 420

B. 160

C. 56

D. 20

https://dl.doubtnut.com/l/_xXs45OLOUcGR
https://dl.doubtnut.com/l/_jjrcnrqoDAkX


Chapter Exercises A Taking It Together

Answer: C

Watch Video Solution

1. Sperms are produced in:

A. seminaiferous tubules

B. interstitial cells

C. vas deferens

D. prostate gland

Answer: A

Watch Video Solution

2. Toestosterone, the male sex hormone is synthesised in

https://dl.doubtnut.com/l/_jjrcnrqoDAkX
https://dl.doubtnut.com/l/_wIBNjUZ3LoKd
https://dl.doubtnut.com/l/_bOn19qp6Atn9


A. seminiferous tubules

B. interstitial cells

C. vas deferens

D. prostate gland

Answer: B

Watch Video Solution

3. The mature sperms are temporarily stored in

A. seminiferous tubules

B. scrotum

C. epididymsis

D. seminal vesicles

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_bOn19qp6Atn9
https://dl.doubtnut.com/l/_W9ZpNjq2bDe5


4. How many mature eggs are typically produced by each ovary of a

nonpregnanrt women each year?

A. 6

B. 12

C. 24

D. 52

Answer: B

Watch Video Solution

5. Gonads are derived from :

A. ectoderm

B. mesoderm

C. endoderm

https://dl.doubtnut.com/l/_W9ZpNjq2bDe5
https://dl.doubtnut.com/l/_goSs0pQtmeKP
https://dl.doubtnut.com/l/_FZIw1nXmx5zo


D. All of these

Answer: B

Watch Video Solution

6. Uterus masculinus is

A. uterus anteriorly

B. seminal vesicle of man

C. vagina

D. None of theses

Answer: B

Watch Video Solution

7. The phase of menstrual cycle when fertilisatin is possible is

https://dl.doubtnut.com/l/_FZIw1nXmx5zo
https://dl.doubtnut.com/l/_FtDnwfO7xzXp
https://dl.doubtnut.com/l/_0u3XEFGaC1Yo


A. follicular phase

B. luteal phase

C. bleeding phase

D. Any of these

Answer: B

Watch Video Solution

8. The interstitium surrounding the mammalian ovary is/are

A. smooth muscles

B. membranes

C. connective tissue

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_0u3XEFGaC1Yo
https://dl.doubtnut.com/l/_bAwzYVxUNo1j


9. In m ammals, the testes are connected posteriorly by ..... To scrotal sacs.

A. spermatic cords

B. dartos muscels

C. rachis

D. gubernaculum

Answer: D

Watch Video Solution

10. The muscles helping in providing warmth to testes are

A. cremaster only

B. cremaster and dartos muscles

C. gubernaculum

https://dl.doubtnut.com/l/_bAwzYVxUNo1j
https://dl.doubtnut.com/l/_eVHWDX7BNf58
https://dl.doubtnut.com/l/_XelBcamb9v5N


D. mesorchium

Answer: B

Watch Video Solution

11. The spem becomes mature and fully motile in

A. rette testes

B. cauda epididymis

C. vas deferentia

D. seminal vesicles

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_XelBcamb9v5N
https://dl.doubtnut.com/l/_rBsXaaW6ldL8


12. Pseudostratified columnar epithelium lines which one of the following

?

A. Vas defference

B. Buccal cavity

C. Bowman's capsule

D. All of these

Answer: A

Watch Video Solution

13. The combined length of seminiferous tubles of man is about..........

Meters.

A. 

B. 

C. 

100 − 200

200 − 400

400 − 600

https://dl.doubtnut.com/l/_DIQ4rkn0wS95
https://dl.doubtnut.com/l/_BFNFGR7T14qp


D. 

Answer: B

View Text Solution

600 − 800

14. The cells of the follicle synonesis

A. oestrogen

B. progesterone

C. Both (a) and (b)

D. None of these

Answer: A

View Text Solution

15. probable fertility period menstrual cycle is from ......... Days.

https://dl.doubtnut.com/l/_BFNFGR7T14qp
https://dl.doubtnut.com/l/_p1JSDOSmuwk2
https://dl.doubtnut.com/l/_usT1ka5fyHvY


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

5 − 8

9 − 12

13 − 16

17 − 20

16. Wheb a mature egg leaves the ovary, it enters the

A. uterus anteriorly

B. second ovary

C. vagina

D. oviduct

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_usT1ka5fyHvY
https://dl.doubtnut.com/l/_AhAC7qVrLGtT


17. The female part homologus to the penis is

A. vestibule

B. hymen

C. basculum

D. clitoris

Answer: D

Watch Video Solution

18. During the ovum formation, meiosis occurs in

A. primordial germ cell

B. primary oocyte

C. oogonium

https://dl.doubtnut.com/l/_AhAC7qVrLGtT
https://dl.doubtnut.com/l/_kdbs7oR6iklO
https://dl.doubtnut.com/l/_rA4O1Lk9QVYJ


D. secondary oocyte

Answer: B

Watch Video Solution

19. The primary oocytes remian small without any growth in human

females for .......... Years.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5 − 6

12 − 14

1 − 2

4 − 5

https://dl.doubtnut.com/l/_rA4O1Lk9QVYJ
https://dl.doubtnut.com/l/_eFfDeqDt4oKj


20. Ovary is atteched with the back of body wall by

A. mesorchium

B. mesosalpinx

C. mesovarium

D. ovarian ligament

Answer: C

Watch Video Solution

21. Oestradiol is secreted by

A. theca interna

B. zona pellucida

C. young follicle

D. Graafian follicle

https://dl.doubtnut.com/l/_G2MBCcJ2F8Pa
https://dl.doubtnut.com/l/_ka4dfSuuNp8M


Answer: D

Watch Video Solution

22. Seminiferous tubules open into

A. epididymis

B. vasa efferntia

C. vasa deferntia

D. rete testes

Answer: D

Watch Video Solution

23. Partitions of testis develop from

A. tunica albuginea

https://dl.doubtnut.com/l/_ka4dfSuuNp8M
https://dl.doubtnut.com/l/_5unpW7So8bpi
https://dl.doubtnut.com/l/_YoEGCS4pNXFD


B. tunica vasulosa

C. tunica genialis

D. rete testes

Answer: A

Watch Video Solution

24. Vasa deferens posses

A. interstitial cells

B. secretory cells

C. ciliated cells

D. subcutacular cells

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_YoEGCS4pNXFD
https://dl.doubtnut.com/l/_tWQVNgh4YaLm
https://dl.doubtnut.com/l/_9MfE1EqMp6bu


25. Vas deferens arises from

A. cauda epididymis

B. caput empididymis

C. corpus epididymis

D. rete testes

Answer: A

Watch Video Solution

26. The common duct formed by the union of vas deferens and duct from

seminal vescial is :

A. urethra

B. vas deferns

C. ejaculatory duct

D. spermatic duct

https://dl.doubtnut.com/l/_9MfE1EqMp6bu
https://dl.doubtnut.com/l/_aWxJqKOUwbw5


Answer: C

Watch Video Solution

27. Primary oocyte is

A. haploid

B. diploid

C. polyploid

D. None of these

Answer: B

Watch Video Solution

28. Seconday oocyte is

A. haploid

https://dl.doubtnut.com/l/_aWxJqKOUwbw5
https://dl.doubtnut.com/l/_cMGgeoE7XGtJ
https://dl.doubtnut.com/l/_c9foxwTQUa1k


B. diploid

C. polyploid

D. None of these

Answer: A

Watch Video Solution

29. Progesterone is a

A. carbohydrate

B. steriod

C. protein

D. sterol

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_c9foxwTQUa1k
https://dl.doubtnut.com/l/_e6V1XWB7QG9t
https://dl.doubtnut.com/l/_YaMMBWjytk3m


30. Luteal phase is the other name of

A. follicular phase

B. proliferative phae

C. mesnstrual flow phase

D. secretory phase

Answer: D

Watch Video Solution

31. Follicular phase of menstrual cycle is the other name of :

A. profiferative phase

B. secretory phae

C. luteal phase

D. menstruation

https://dl.doubtnut.com/l/_YaMMBWjytk3m
https://dl.doubtnut.com/l/_cGeZskan0xT3


Answer: A

Watch Video Solution

32. Mesorchium is peritoneal covering of

A. ovary

B. testis

C. kidney

D. liver

Answer: B

Watch Video Solution

33. Mesovarium is pertioneal covering of

A. ovary

https://dl.doubtnut.com/l/_cGeZskan0xT3
https://dl.doubtnut.com/l/_iPi0LZSb5MHK
https://dl.doubtnut.com/l/_1jl10iJC9jzS


B. testis

C. kidney

D. liver

Answer: A

Watch Video Solution

34. Menstrual cycle is generally of

A. 21 days

B. 28 days

C. 30 days

D. 40 days

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_1jl10iJC9jzS
https://dl.doubtnut.com/l/_26TK3rYOcViH
https://dl.doubtnut.com/l/_UAg9RHFhxN1X


35. In menstrual cycle, ovum is released during

A. beginning

B. midway

C. end

D. any time

Answer: B

Watch Video Solution

36. Spot of odd term for male reproductive structure.

A. rete testis

B. Epididymis

C. Isthmus

D. cowper's gland

https://dl.doubtnut.com/l/_UAg9RHFhxN1X
https://dl.doubtnut.com/l/_KxXi9kVVSiZw


Answer: C

Watch Video Solution

37. At puberty woman starts producing

A. sperms

B. oxytocin

C. testosterone

D. ova

Answer: D

Watch Video Solution

38. Scrotum communicates with adbominal cavity through

A. urethra

https://dl.doubtnut.com/l/_KxXi9kVVSiZw
https://dl.doubtnut.com/l/_hpklO5BAoWqo
https://dl.doubtnut.com/l/_KMq0hd1BLRzx


B. inguinal canal

C. vas deferens

D. epididymis

Answer: B

Watch Video Solution

39. The leydig cells as found in the human body are the secretory source

of

A. glucagon androgens

B. androgens

C. progesterone

D. intestinal mucus

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_KMq0hd1BLRzx
https://dl.doubtnut.com/l/_uIpDiSQq9ZeX


40. Vitelline layer aournd the egg is depositied by

A. ovary

B. oviduct

C. egg itself

D. coelom

Answer: C

Watch Video Solution

41. Development of foetus takes place in

A. vagina

B. uterus

C. ovary

D. oviduct

https://dl.doubtnut.com/l/_uIpDiSQq9ZeX
https://dl.doubtnut.com/l/_iEAG1NMImzVI
https://dl.doubtnut.com/l/_SD9LbVkba6Yf


Answer: B

Watch Video Solution

42. Lower narrow end of uterus is called

A. urethra

B. cervix

C. clitoris

D. vulva

Answer: B

View Text Solution

43. The functional unit of testes of man is

A. uriniferous tubles

https://dl.doubtnut.com/l/_SD9LbVkba6Yf
https://dl.doubtnut.com/l/_yu9Xzt6E1Wpb
https://dl.doubtnut.com/l/_HPp1obv0trHY


B. Malpighian tubules

C. seminiferour tubules

D. acini or lobules

Answer: C

Watch Video Solution

44. Chorionic gonadotropic hormone is secreted by

A. pituitary

B. ovary

C. plaenta

D. uterus

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_HPp1obv0trHY
https://dl.doubtnut.com/l/_uKwHkau3zBEh
https://dl.doubtnut.com/l/_N4tWMJW9eH69


45. Formation of primary spermatocyte/ oocyte from a

spermatogonium/oogonium requires

A. mitosis

B. meiosis-I

C. meiosis-II

D. growth

Answer: B

Watch Video Solution

46. A human female reaches menopause around the age of

A. 70 yr

B. 25 yr

C. 15 yr

D. 50 yr

https://dl.doubtnut.com/l/_N4tWMJW9eH69
https://dl.doubtnut.com/l/_ZAYOskdI31Ux


Answer: D

Watch Video Solution

47. Which one of the following is not a male accessory gland?

A. prostate gland

B. Ampullia

C. Seminal vesicle

D. Bulbourethral gland

Answer: B

Watch Video Solution

48. If an unfertilized egg is pricked with a microneedle, it will (in frog)

A. die immeidately

https://dl.doubtnut.com/l/_ZAYOskdI31Ux
https://dl.doubtnut.com/l/_BHZMxbDhTCPe
https://dl.doubtnut.com/l/_ITfsqS67puLR


B. start dividing

C. remain undivided

D. None of theses

Answer: B

Watch Video Solution

49. Tunica vaginalis is found in

A. ovaries of female

B. testis of male

C. vagina of female

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ITfsqS67puLR
https://dl.doubtnut.com/l/_cnOEZiOs20Mb
https://dl.doubtnut.com/l/_A42lkAyOY26u


50. Penil urethra in males traveses through

A. corpora cavermosa

B. corpus spongiosum

C. corpus callosum

D. corpus striatum

Answer: B

Watch Video Solution

51. Immediate membrane covering of mammalian egg is

A. corona radiata

B. zona pellucida

C. vitelline membrane

D. chorion

https://dl.doubtnut.com/l/_A42lkAyOY26u
https://dl.doubtnut.com/l/_ukghPf61bGVF


Answer: C

Watch Video Solution

52. In tracing the path of sperm from testis to outsdie, you wold mention

the vasa deferentia before the

A. testes

B. epididymide

C. urethra

D. uterus

Answer: B

View Text Solution

53. Semen does not contain

https://dl.doubtnut.com/l/_ukghPf61bGVF
https://dl.doubtnut.com/l/_Mb8ZpX4cCgdj
https://dl.doubtnut.com/l/_CWeBXFsluaCs


A. prostate fluid

B. urine

C. fructose

D. prostaglandins

Answer: B

Watch Video Solution

54. Progesterone levels falls during :

A. gestation

B. parturition

C. lactation

D. menstruation

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_CWeBXFsluaCs
https://dl.doubtnut.com/l/_Ak2erG54iAJb


55. Graafian follicle contains

A. many oocytes

B. many sperms

C. a single oocyte

D. site for egg fertilisation

Answer: A

Watch Video Solution

56. Mullerian duct is

A. ureter

B. urethra

C. cervix

https://dl.doubtnut.com/l/_Ak2erG54iAJb
https://dl.doubtnut.com/l/_O9sJacC2rMQ5
https://dl.doubtnut.com/l/_pdlZrWwZs4Do


D. oviduct

Answer: D

Watch Video Solution

57. Graafian follicle of ovary secretes

A. oestrogen

B. relaxin

C. progesterone

D. cortisone

Answer: C

Watch Video Solution

58. The covering egg in human female is know as

https://dl.doubtnut.com/l/_pdlZrWwZs4Do
https://dl.doubtnut.com/l/_Ocd4Eb1SuaIr
https://dl.doubtnut.com/l/_e4ZDgi2nYLNn


A. zona pellucida

B. zona radiata

C. zona striata

D. Both (a) and (b)

Answer: D

Watch Video Solution

59. The process of formation of ova is called

A. ovulation

B. oogenesis

C. oviparity

D. oviposition

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_e4ZDgi2nYLNn
https://dl.doubtnut.com/l/_ZD9AU7b2djAW


60. Fimbriated funnel is found over

A. ureter

B. urinary bladder

C. uterus

D. Fallopia tube

Answer: B

Watch Video Solution

61. Which of the following phases are seen during oogenesis ?

A. multiplication phase

B. growth phase

C. maturation phase

https://dl.doubtnut.com/l/_ZD9AU7b2djAW
https://dl.doubtnut.com/l/_QjxDYTufFtcV
https://dl.doubtnut.com/l/_ZETGnSKGctRJ


D. All of these

Answer: D

Watch Video Solution

62. Polar bodies devlop during the formation of

A. spermatogonia

B. oocyte

C. oogonia

D. sperms

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ZETGnSKGctRJ
https://dl.doubtnut.com/l/_nfXjJg81omQI


63. Hormone responsible for ovulation and development of corpus

luteum is

A. FSH

B. LH

C. LTH

D. ICSH

Answer: B

Watch Video Solution

64. Fertilisins are emitted by

A. immmature eggs

B. mature eggs

C. sperms

D. polar bodies

https://dl.doubtnut.com/l/_kpWhQRy7JfX1
https://dl.doubtnut.com/l/_F5odEUFmd3CY


Answer: C

Watch Video Solution

65. Oestrous cycle occurs in

A. invertebrates

B. vertebrates

C. all mammals

D. Non primate mammals

Answer: D

Watch Video Solution

66. Structure of Graffian follicle was described by

A. De Graff

https://dl.doubtnut.com/l/_F5odEUFmd3CY
https://dl.doubtnut.com/l/_wis8uI3Hha1L
https://dl.doubtnut.com/l/_rEiRRxc92Pwd


B. Mayer

C. Leeuwenhook

D. All of these

Answer: A

Watch Video Solution

67. Which of the following is not a pary of female reproductive organ?

A. Uterus

B. Isthmus

C. Seminal vesicle

D. Clitoris

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_rEiRRxc92Pwd
https://dl.doubtnut.com/l/_bXzlrwaso9FX
https://dl.doubtnut.com/l/_13yHxrPzR5q5


68. Corpus luteum occurs in

A. uterus anteriorly

B. oviduct

C. ovary

D. vagina

Answer: C

Watch Video Solution

69. Sprm pentration, which brings changes in ova is

A. formation of one polar body

B. meiosis-I

C. meiosis-II

D. formation of pronuclei

https://dl.doubtnut.com/l/_13yHxrPzR5q5
https://dl.doubtnut.com/l/_1DwGHheLHwKL


Answer: D

Watch Video Solution

70. Which on of the following is haploid?

A. Oogonia

B. Primary oocyte

C. Secondary oocyte

D. Primary spermatocyte

Answer: C

Watch Video Solution

71. Tunica albunginea is related to

A. liver

https://dl.doubtnut.com/l/_1DwGHheLHwKL
https://dl.doubtnut.com/l/_MReqFz0HtySa
https://dl.doubtnut.com/l/_xQS73V4krM7s


B. uterus

C. Fallopian tube

D. testes

Answer: D

Watch Video Solution

72. Thick/follcular cells surrounding oocyte in Graffian foolicle belong to

A. zona pellucida

B. corona radiata

C. zona vesiculosa

D. granulosa

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_xQS73V4krM7s
https://dl.doubtnut.com/l/_m2dh4nX1Ldl9
https://dl.doubtnut.com/l/_0Qgg2bmQYMU6


73. After ovulation, Graafian follicle forms

A. corpus luteum

B. corpus albicans

C. corpus artesia

D. corpus collosum

Answer: A

Watch Video Solution

74. Secretion of progesterone by corpus luteum is initiated by

A. MSH

B. LH

C. testosterone

D. thyroxine

https://dl.doubtnut.com/l/_0Qgg2bmQYMU6
https://dl.doubtnut.com/l/_wWP0PLOlRmPl


Answer: B

Watch Video Solution

75. Menstrual cycle is affectted by

A. progesterone only

B. LH only

C. LH+FSH +oestrogen

D. oestrogen only

Answer: C

Watch Video Solution

76. Relaxin is released from

A. Corpus luteum

https://dl.doubtnut.com/l/_wWP0PLOlRmPl
https://dl.doubtnut.com/l/_dRsEhfbY9CEv
https://dl.doubtnut.com/l/_noomWNdKOZ5Z


B. thyroid

C. testis

D. corpus albicans

Answer: A

Watch Video Solution

77. Corpus luteum is developed from

A. left over oocyte

B. nephrostome

C. left over Graafian follicle after release of ovum

D. None of the above

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_noomWNdKOZ5Z
https://dl.doubtnut.com/l/_jbVnIwq89Y8I
https://dl.doubtnut.com/l/_PX2VyJC8tLUG


78. Graafian follicles are found in:

A. testis of mammal

B. ovary of frog

C. ovary of cockroach

D. ovary of mammals

Answer: D

Watch Video Solution

79. Secondary spermatocytes in male testis are formed during

A. multiplication phase

B. spermiogenesis

C. growth phase

D. maturation phase

https://dl.doubtnut.com/l/_PX2VyJC8tLUG
https://dl.doubtnut.com/l/_Xr1FpVeFZvw0


Answer: D

Watch Video Solution

80. Which is a gonadotropin hormone ?

A. GH

B. MSH

C. ADH

D. FSH and LH

Answer: D

Watch Video Solution

81. Translucent outer covering of egg is

A. zona pellucida

https://dl.doubtnut.com/l/_Xr1FpVeFZvw0
https://dl.doubtnut.com/l/_ZCOcKhs9OBCB
https://dl.doubtnut.com/l/_BHDUnHWuJxwP


B. zona radiata

C. corona radiata

D. None of these

Answer: A

Watch Video Solution

82. Ball-like structure formed after completion of cleavage is

A. blastula

B. morula

C. gastrula

D. neutral plate

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_BHDUnHWuJxwP
https://dl.doubtnut.com/l/_gnN5g6hByAPs
https://dl.doubtnut.com/l/_VaSiVkMnLxsf


83. Extra-embryonic membranes of the mammalian embryo and derived

from

A. formative cells

B. follicle cells

C. inner cells mass

D. trophoblast

Answer: D

Watch Video Solution

84. Human embryo completes development in

A. 180 days

B. 300 days

C. 220 days

D. 266-280 days

https://dl.doubtnut.com/l/_VaSiVkMnLxsf
https://dl.doubtnut.com/l/_t0uYPbE7MsTR


Answer: D

Watch Video Solution

85. Outer covering of blastula is

A. trophoblast

B. embryoblast

C. zona radiata

D. None of these

Answer: A

Watch Video Solution

86. 50 primary spermatocytes gives rise to

A. 200 spermatocytes

https://dl.doubtnut.com/l/_t0uYPbE7MsTR
https://dl.doubtnut.com/l/_wLQrvO9CczgP
https://dl.doubtnut.com/l/_PO6HO7VzFNBX


B. 50 spermatocytes

C. 200 spermatozoa

D. 50 spermatozoa

Answer: C

Watch Video Solution

87. Hormone that prepares and maintains the uterus during pregnancy is

produced by

A. corpora cardiaca

B. corpus luteum

C. corpora albicans

D. Graafian follicle

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_PO6HO7VzFNBX
https://dl.doubtnut.com/l/_M0aCBB325w0d


88. Number of chromosomes in secondary oocyte stage in humans is

A. 23

B. 46

C. 18

D. 20

Answer: A

Watch Video Solution

89. Onset of menstruation of human female is called

A. menopause

B. puberty

C. gestation

D. menarche

https://dl.doubtnut.com/l/_M0aCBB325w0d
https://dl.doubtnut.com/l/_nCftIK0s7LQw
https://dl.doubtnut.com/l/_KnTuZHRbCabi


Answer: D

Watch Video Solution

90. The lytic enzyme released by sperm is:

A. acrosome

B. ligase

C. androgamone

D. hyaluronidase

Answer: D

Watch Video Solution

91. In females, the harmone inhibin is secreted by:

A. zona pellucida

https://dl.doubtnut.com/l/_KnTuZHRbCabi
https://dl.doubtnut.com/l/_rLFPgrwCfieG
https://dl.doubtnut.com/l/_304q5i8tZVcN


B. ovary

C. corpus luteum

D. uterine epithelium

Answer: C

Watch Video Solution

92. Secondary sexual characters in females

A. relaxin

B. progesterone

C. oestrogen

D. gonadotropin

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_304q5i8tZVcN
https://dl.doubtnut.com/l/_gZVIdyHC0iw7
https://dl.doubtnut.com/l/_cSs5nHo5ndhU


93. When egg is not fertilised , yellow colou red corpus luteum

degenerates to form

A. corpus albicans

B. corpus callosum

C. corpora bigemina

D. corpora quadrigemina

Answer: A

Watch Video Solution

94. Antrum is the cavity of :

A. gastrula

B. graafian follicle

C. ovary

D. blastula

https://dl.doubtnut.com/l/_cSs5nHo5ndhU
https://dl.doubtnut.com/l/_3pXDKIFf4pm3


Answer: B

Watch Video Solution

95. Number of eggs released in the life time of a women is approximately

A. 40

B. 400

C. 4000

D. 20000

Answer: B

Watch Video Solution

96. Eggs which have yolk in the centre surrounded by cytoplasm are called

:

https://dl.doubtnut.com/l/_3pXDKIFf4pm3
https://dl.doubtnut.com/l/_mCvtsROzscnY
https://dl.doubtnut.com/l/_JP7KlQmtH2SE


A. homolecithal

B. microlecithal

C. centrolecithal

D. telolecithal

Answer: C

Watch Video Solution

97. The placenta of human beings belong to the peripheral layer, are

called

A. haemochorialis

B. syndesmochorialis

C. endotheliochorialis

D. epitheliochorialis

Answer: A

https://dl.doubtnut.com/l/_JP7KlQmtH2SE
https://dl.doubtnut.com/l/_BJG9oYDO5d3u


View Text Solution

98. Preparation of sperm before penetration of ovum is

A. coition

B. capacitation

C. isemination

D. spermiation

Answer: B

Watch Video Solution

99. Termination of gastrulation is marked by

A. obliteration of archenteron

B. closure of neural tube

C. obliteration of blastocoel

https://dl.doubtnut.com/l/_BJG9oYDO5d3u
https://dl.doubtnut.com/l/_yVsE8hlcpcrR
https://dl.doubtnut.com/l/_cfboN2USB1at


D. None of the above

Answer: A

Watch Video Solution

100. Germinal Epithelium of overy is formed of : -

A. cuboidal cells

B. columnar cells

C. squamous cells

D. stratified cells

Answer: A

Watch Video Solution

101. The phase of menstrual cycle in humans that lasts for 7-8 days, is

https://dl.doubtnut.com/l/_cfboN2USB1at
https://dl.doubtnut.com/l/_0dHr3pxKdhTi
https://dl.doubtnut.com/l/_yh9QWsbmlAzu


A. follicular phase

B. ovulatory phase

C. luteal phase

D. None of these

Answer: C

Watch Video Solution

102. How many blood vessels are present in umbilical cord

A. 5

B. 4

C. 3

D. 2

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_yh9QWsbmlAzu
https://dl.doubtnut.com/l/_jkQcj603tgU5


103. Egg with large amount of yolk is

A. microlecithal

B. macrolecithal

C. oligolecithal

D. mesolecithal

Answer: B

Watch Video Solution

104. In human beings the egg are

A. microlecithal

B. macrolecithal

C. mesolecithal

https://dl.doubtnut.com/l/_jkQcj603tgU5
https://dl.doubtnut.com/l/_kRoTKnbVwiXN
https://dl.doubtnut.com/l/_UeVrIrgyZ9PL


D. centrolecithal

Answer: A

Watch Video Solution

105. Fertilizin is a chemical substance produced from

A. mature eggs

B. acrosome

C. polar bodies

D. middle piece of sperm

Answer: A

Watch Video Solution

106. Division of human egg is :

https://dl.doubtnut.com/l/_UeVrIrgyZ9PL
https://dl.doubtnut.com/l/_X8ckJfY46DoP
https://dl.doubtnut.com/l/_ROGWFgjZLanS


A. equal holoblastic

B. unequal holoblastic

C. superficial meroblastic discoidal meroblastic

D. discoidal meroblastic

Answer: B

Watch Video Solution

107. Fertilised ovum is transplanted is uterus after

A. 1 day

B. 7 days

C. 8 days

D. 19 days

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ROGWFgjZLanS
https://dl.doubtnut.com/l/_Cz7IGLqSfwKQ


108. Retina, eye lens, brain and skin are formed from

A. mesoderm

B. ectoderm

C. endoderm

D. Both (b) and (c)

Answer: C

Watch Video Solution

109. Meroblastic cleavage is

A. total

B. spiral

C. incomplete

https://dl.doubtnut.com/l/_Cz7IGLqSfwKQ
https://dl.doubtnut.com/l/_lacZCLWfp0lz
https://dl.doubtnut.com/l/_TLh73CygbNFx


D. horizontal

Answer: D

Watch Video Solution

110. The type of placenta fund in human beings is of type :

A. diffuse

B. zonary

C. cotyledonary

D. metadiscoidal

Answer: D

Watch Video Solution

111. Which one is not formed from ectoderm?

https://dl.doubtnut.com/l/_TLh73CygbNFx
https://dl.doubtnut.com/l/_nJo1WTaKbXRy
https://dl.doubtnut.com/l/_7Me5W6ILQc2o


A. Notochord

B. Epidermis

C. Pancrease

D. Brachial arches

Answer: A

Watch Video Solution

112. An organ not formed from ectoderm is

A. optic nerve

B. middle ear

C. inner ear

D. skin

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_7Me5W6ILQc2o
https://dl.doubtnut.com/l/_ylcz0etpmT0d


113. Mobility of mature sperm in controlled by mitochondria present in

A. head

B. middle piece

C. tail

D. All of these

Answer: B

Watch Video Solution

114. Mass of cells formed during early embryomic development of an

animal is

A. morula

B. blastula

C. amphiblastula

https://dl.doubtnut.com/l/_ylcz0etpmT0d
https://dl.doubtnut.com/l/_wKPvuXHMGA0K
https://dl.doubtnut.com/l/_QCaRRX7uxNbR


D. gastrula

Answer: A

Watch Video Solution

115. Early embryonic stage that follows blastula is

A. morula

B. amphiblastula

C. radula

D. gastrula

Answer: D

Watch Video Solution

116. When the pregnancy occurs in ovary itself it is called

https://dl.doubtnut.com/l/_QCaRRX7uxNbR
https://dl.doubtnut.com/l/_PGXIH6ldPHpr
https://dl.doubtnut.com/l/_fTlnoLnXcih6


A. tubual pregnancy

B. ectopic pregnancy

C. abdominal pregnancy

D. None of these

Answer: B

Watch Video Solution

117. Villi of human placenta develop from

A. Chorion

B. allantois

C. Both (a) and (b)

D. yolk-sac

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_fTlnoLnXcih6
https://dl.doubtnut.com/l/_EYynCSBKTH3n


118. Layer of blastocyst that gives rise to ectoderm is

A. trophoectoderm

B. embryo disc

C. cnidoblast

D. amnion

Answer: B

Watch Video Solution

119. Which is urinary bladder of foetus is womb?

A. Placenta

B. Chorion

C. Allantois

https://dl.doubtnut.com/l/_EYynCSBKTH3n
https://dl.doubtnut.com/l/_wmWGvj6iKV83
https://dl.doubtnut.com/l/_wR8SgmElTez0


D. amnion

Answer: C

Watch Video Solution

120. Placenta has a selectively permeable and hormone secreting outer

layer known as

A. mesoderm

B. amnion

C. trophoblast

D. chorion

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_wR8SgmElTez0
https://dl.doubtnut.com/l/_bjnWrl9Cfn40


121. Amniotic fluid protects the foetus from

A. shock

B. encystment

C. degeneration

D. disease

Answer: A

Watch Video Solution

122. Placenta in human beings is formed by :

A. amnion

B. allantois

C. chorion

D. All of these

https://dl.doubtnut.com/l/_DlqdFxKLWxkV
https://dl.doubtnut.com/l/_wBnlpJgvc1HH


Answer: D

Watch Video Solution

123. Third phase of embryo development is

A. cleavage

B. fertilisation

C. gametogenesis

D. gastrulation

Answer: D

Watch Video Solution

124. Human beings are

A. ovovivparous

https://dl.doubtnut.com/l/_wBnlpJgvc1HH
https://dl.doubtnut.com/l/_FQcFGc2JP8ti
https://dl.doubtnut.com/l/_hdGz4HImtQOx


B. oviparous

C. parthenogenetic

D. viviparous

Answer: D

Watch Video Solution

125. Gastrulation comprises

A. morphogenetic movement

B. differentiation of archenteron

C. differentation of three germ layers

D. All of the above

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_hdGz4HImtQOx
https://dl.doubtnut.com/l/_TjQw1bEhvobi
https://dl.doubtnut.com/l/_4grM2koWpwDG


126. Enzymes found in Leyding cells are

A. proteinases

B. steroid-dehydrogenases

C. sperm lysisns

D. All of these

Answer: B

Watch Video Solution

127. When do the three germinal layers diffrentiate

A. Blastula

B. Gastrula

C. Cleavage

D. Fertilisation

https://dl.doubtnut.com/l/_4grM2koWpwDG
https://dl.doubtnut.com/l/_Jelp0U0DX2ZT


Answer: B

Watch Video Solution

128. Which of the foetal membrane is directly connected with blood ?

A. Allantois

B. Amnion

C. chorion

D. yolk-sac

Answer: C

Watch Video Solution

129. Ectoderm forms

A. sweat glands

https://dl.doubtnut.com/l/_Jelp0U0DX2ZT
https://dl.doubtnut.com/l/_AJncT4pFGAf1
https://dl.doubtnut.com/l/_6IJXfqc5UDhI


B. nervous system

C. lens of eye

D. All of these

Answer: D

Watch Video Solution

130. Gestation period of 280 days is calculated from time of

A. last menstruation

B. fertilisation

C. next menstruation

D. puberty

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_6IJXfqc5UDhI
https://dl.doubtnut.com/l/_jBJWDQMSBlCF
https://dl.doubtnut.com/l/_Zyj4KvUJoTXW


131. Germinal layer formed from trophoblast of mammalian blastocyst is

A. ectoderm

B. endoderm

C. mesoderm

D. None of these

Answer: D

Watch Video Solution

132. Vegetal hemisphere of egg has

A. germinal vesicle

B. yolk

C. pigment

D. grey crescent

https://dl.doubtnut.com/l/_Zyj4KvUJoTXW
https://dl.doubtnut.com/l/_aqfWsBM92o2Q


Answer: B

Watch Video Solution

133. What is the total number of polar bodies formed during oogenesis in

the ovary?

A. 4

B. 3

C. 1

D. 2

Answer: B

Watch Video Solution

134. Which of the following hormones is not secreted by human placenta?

https://dl.doubtnut.com/l/_aqfWsBM92o2Q
https://dl.doubtnut.com/l/_o5xSuwSfjD4q
https://dl.doubtnut.com/l/_Vj5H580gw69V


A. hCG

B. Oestrogen

C. Progesterone

D. LH

Answer: D

Watch Video Solution

135. Cavity of gastrula is

A. coelom

B. blastocoel

C. archenteron

D. blastopore

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Vj5H580gw69V
https://dl.doubtnut.com/l/_hhPkEMGmhPrx


136. In human development , which part of the blastocyst will develop into

a foetus ?

A. Morula

B. Trophoblast

C. inner cells mass

D. Chorion

Answer: C

Watch Video Solution

137. From one egg in gastrula if all endodermal cells are removed, the

organism will lack

A. eyes

B. heart

https://dl.doubtnut.com/l/_hhPkEMGmhPrx
https://dl.doubtnut.com/l/_A2N3iFVDk7TQ
https://dl.doubtnut.com/l/_tJM1wDj5FBTD


C. brain

D. visceral organs

Answer: D

Watch Video Solution

138. What is the approximate pH of the secretions of prostate gland ?

A. 8.2

B. 2.1

C. 6.5

D. 7.3

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_tJM1wDj5FBTD
https://dl.doubtnut.com/l/_uBgoPOJz6RB5


139. Spermatogenesis requires the presence of

A. fructose

B. progesterone

C. testosterone

D. thyroxine

Answer: C

Watch Video Solution

140. Each ejaculate of a man contains about how many sperms ?

A. 400

B. 4000

C. 400000

D. 4000000000

https://dl.doubtnut.com/l/_8TyWrun3Nj7f
https://dl.doubtnut.com/l/_kxF1B4KBfT46


Answer: D

Watch Video Solution

141. Which hormone can be administered to begin the proess of

childbirth ?

A. Oestrogen

B. Oxytocin

C. Prolactin

D. Testosterone

Answer: B

Watch Video Solution

142. Which hormone(s) play(s) a direct role in lactation ?

https://dl.doubtnut.com/l/_kxF1B4KBfT46
https://dl.doubtnut.com/l/_GG6b0YIzJKVH
https://dl.doubtnut.com/l/_ic2r4wTWOpIG


A. Oestrogen

B. Oxytocin

C. Prolactin

D. Both (b) and (c)

Answer: D

Watch Video Solution

143. Eggs are generally large in size due to the presence of

A. yolk

B. vitelline membrane

C. shell

D. plasma membrane

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ic2r4wTWOpIG
https://dl.doubtnut.com/l/_8vkWcAfvjr5S


144. In many embryos, differentiation begins at what stage ?

A. zygote

B. Blastula

C. Gastrula

D. Neurula

Answer: C

Watch Video Solution

145. The membranous cover of the ovum at ovulation is

A. corona radiata

B. zona radiata

C. zona radiata

https://dl.doubtnut.com/l/_8vkWcAfvjr5S
https://dl.doubtnut.com/l/_JCG1afwYL4rT
https://dl.doubtnut.com/l/_CosDDVnuYmA0


D. chorion

Answer: A

Watch Video Solution

146. Bone are ………. In origin

A. ectodermal

B. mesodermal

C. endodermal

D. ectomesodermal

Answer: B

Watch Video Solution

147. How did is the embryo when most of its organs are formed ?

https://dl.doubtnut.com/l/_CosDDVnuYmA0
https://dl.doubtnut.com/l/_Pnn3k0zoeI4D
https://dl.doubtnut.com/l/_ctuikGA7fQti


A. 3 months

B. 4 months

C. 6 months

D. 7 months

Answer: C

Watch Video Solution

148. Vas deferens arises from

A. cauda epididymis

B. caput empididymis

C. gastrula

D. corpus epididymis

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ctuikGA7fQti
https://dl.doubtnut.com/l/_E2QNAC5Laetc


149. A cell formed from cleavage is called

A. blastomere

B. morula

C. gastrula

D. blastopore

Answer: B

Watch Video Solution

150. Which of the following organs develops first ?

A. liver

B. heart

C. Notochord

https://dl.doubtnut.com/l/_E2QNAC5Laetc
https://dl.doubtnut.com/l/_FDLH8gggBQVC
https://dl.doubtnut.com/l/_FRSSNY0fNMIF


D. Kidneys

Answer: A

Watch Video Solution

151. Blastocoek, used as yolk space in other vertebrates, possesses in

mammals

A. yolk

B. fat reserve

C. outer cell mass

D. trophectoderm

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_FRSSNY0fNMIF
https://dl.doubtnut.com/l/_bQB3BcGD8Oat


152. Foetal membranes produced by trophoblast are

A. chorion and allantosis

B. chorion and aminion

C. amnion and allantois

D. allantois and yolk sac

Answer: B

Watch Video Solution

153. Pancersas is ......... In origin.

A. ectodermal

B. mesdoermal

C. endodermal

D. None of these

https://dl.doubtnut.com/l/_87bpiZiqrYb1
https://dl.doubtnut.com/l/_MTPCuIEWzEAk


Answer: C

Watch Video Solution

154. Kidneys are

A. ectodermal

B. mesodermal

C. endodermal

D. None of these

Answer: B

Watch Video Solution

155. The structure which helps in nutriation of embryon in placental

mammals is

https://dl.doubtnut.com/l/_MTPCuIEWzEAk
https://dl.doubtnut.com/l/_dq2kQETxwPfx
https://dl.doubtnut.com/l/_59ov4RqEHdvk


A. yolk sac

B. amnion

C. crypts

D. placenta

Answer: D

Watch Video Solution

156. All of the following structure are ectodermal except one which is

mesodermal. Identify that s tructure

A. epithelium of retina

B. optic nerve

C. eye lens

D. ciliary body

Answer: D

https://dl.doubtnut.com/l/_59ov4RqEHdvk
https://dl.doubtnut.com/l/_6nkgb58nvswo


Watch Video Solution

157. Tooth enamel originates from

A. ectoderm

B. endoderm

C. head mesenchyme

D. dorsal mesenchyme

Answer: A

Watch Video Solution

158. Implanatation of the blastocyst occurs

A. just prior to conception

B. one week after fertilisation

C. at one month's gestation

https://dl.doubtnut.com/l/_6nkgb58nvswo
https://dl.doubtnut.com/l/_i1OoNLCECbjg
https://dl.doubtnut.com/l/_0kgpCjTbedOn


D. just prior to birth

Answer: B

Watch Video Solution

159. Ontogenetically, the liver is

A. ectodermal

B. endodermal

C. epidermal

D. mesodermal

Answer: B

Watch Video Solution

160. The organ not formed by ectoderm is

https://dl.doubtnut.com/l/_0kgpCjTbedOn
https://dl.doubtnut.com/l/_cRfCOp23ATi9
https://dl.doubtnut.com/l/_KTouQopdprk3


A. brain

B. spina cord

C. internal ear

D. gonads

Answer: C

Watch Video Solution

161. During cleave, nucleocytoplasmic ratio is

A. maintained

B. decreased

C. increased

D. variable

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_KTouQopdprk3
https://dl.doubtnut.com/l/_aDhKAMBFsbjw


162. Non-celluar layer of mature raffian follicel is

A. theca interna

B. membrana granulosa

C. corona radiata

D. zona pellucida

Answer: D

Watch Video Solution

163. Human female possess 44 + XX chromosomes.The secondary oocyte

shall have:

A. 44+XX

B. 22+

C. 22

https://dl.doubtnut.com/l/_aDhKAMBFsbjw
https://dl.doubtnut.com/l/_Gsy6GazFBiVv
https://dl.doubtnut.com/l/_v2wPZituc9ge


D. 44

Answer: B

Watch Video Solution

164. Which of the following devlop from ectoderm only ?

A. Liver,Muscles, Brain

B. Liver, Bones, Brain

C. Liver, Spinal cord, Skin

D. Skin, Spinal cord, Brain

Answer: D

Watch Video Solution

165. The head of the sperm serves which of the following functions ?

https://dl.doubtnut.com/l/_v2wPZituc9ge
https://dl.doubtnut.com/l/_5NY7uLAuvhZU
https://dl.doubtnut.com/l/_Px4Vywc6YD4z


A. ovulation in female

B. sex determination of foetus

C. cleavage

D. All of the above

Answer: B

Watch Video Solution

166. The distal centriole gives attachemebt to the axial filament, but the

proximal dcentriole helps in

A. swimming,

B. cleavage of fertilised egg

C. provides energy

D. position of distal centriole

Answer: B

https://dl.doubtnut.com/l/_Px4Vywc6YD4z
https://dl.doubtnut.com/l/_BWGR8Vp4qZVW


Watch Video Solution

167. The fluid which is rich in calcium citrate, fbinolysin and acid

phosphatase and contributes about 30% of the total vvolume of semen is

released by

A. Cowper's glands

B. prostate gland

C. seminal vesicles

D. epididymis

Answer: B

Watch Video Solution

168. One oogonium forms

A. 1 ovum +3 polar bodies

https://dl.doubtnut.com/l/_BWGR8Vp4qZVW
https://dl.doubtnut.com/l/_bhyh1wwCFvpo
https://dl.doubtnut.com/l/_R2ae45SDHg6b


B. one ovum +1 polar body

C. 1 ovum without centrioles +2 polar bodies

D. single ovum and not polar body

Answer: C

Watch Video Solution

169. Meiosis occurs in

A. primary spermatocytes

B. secondary spermatocytes

C. spermatogonia

D. Both (a) and (b)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_R2ae45SDHg6b
https://dl.doubtnut.com/l/_fMyh8BHkp8WB
https://dl.doubtnut.com/l/_Rph1jIc92p6J


170. Testosterone is secreted by

A. Leydi'g cells

B. Sertoli cells

C. secondary spermatocytes

D. germinal epithelial cells

Answer: A

Watch Video Solution

171. In human, the testes are located in

A. abdominal cavity

B. thoracic cavity

C. extra-abdominal cavity

D. pericardial cavity

https://dl.doubtnut.com/l/_Rph1jIc92p6J
https://dl.doubtnut.com/l/_NLnGRz8OLRpS


Answer: C

Watch Video Solution

172. Vitelline membrane is a

A. primary egg membrane

B. secondary egg membrane

C. tertiary egg membrane

D. None of these

Answer: A

Watch Video Solution

173. Release of oocytes/ova from ovary is

A. gestation

https://dl.doubtnut.com/l/_NLnGRz8OLRpS
https://dl.doubtnut.com/l/_5KoidLRuVI6i
https://dl.doubtnut.com/l/_PwkntG7Nuxug


B. ovulation

C. partrurition

D. implantation

Answer: B

Watch Video Solution

174. Which one is not associated with gametogensis ?

A. Formation of ova

B. Formation of spermatids

C. Release of ova

D. Change of spermatid to spermatozoa

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_PwkntG7Nuxug
https://dl.doubtnut.com/l/_7OwzVCvu73oG
https://dl.doubtnut.com/l/_cgrv0MRW3Ow2


175. Vitellogenesis occurs in

A. primary oocyte in Graafian follicle

B. primary spermatocyte in testis

C. secondary spermatocyte in testis

D. secondary oocyte in Fallopin tube

Answer: A

Watch Video Solution

176. During the ovulatory phase, the structure called corpus luteum, is

formed from

A. ruptured Graafiaan follicle

B. epididymis

C. isogametes

D. endometrium

https://dl.doubtnut.com/l/_cgrv0MRW3Ow2
https://dl.doubtnut.com/l/_Ouu8QWr4nAzj


Answer: A

Watch Video Solution

177. Cumulus oophorus represents

A. cluster of cells around ooccyte

B. heap of maturing follicles

C. mass of cells in Graffian follicle

D. mass of sperms embodded in Sertoli cells

Answer: A

Watch Video Solution

178. Ovulation is the process in which the

A. release of the ovum from the ovary

https://dl.doubtnut.com/l/_Ouu8QWr4nAzj
https://dl.doubtnut.com/l/_7MbXInRiNMd0
https://dl.doubtnut.com/l/_lPEm1qSgc1uj


B. ovum is liberated from the seminal vesical

C. sperm fuses with the ovum

D. All these together happen

Answer: B

Watch Video Solution

179. A late gastrula stage shows these primary germ layers

A. ectoderm and mesoderm

B. ectoderm, mesoderm and endoderm

C. mesoderm and endoderm

D. ectoderm only

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_lPEm1qSgc1uj
https://dl.doubtnut.com/l/_NCVYPzlpp66o
https://dl.doubtnut.com/l/_dWxKm0Ul9dHK


180. Point of sperm entry forms

A. axis of cleaves

B. grey crescent

C. dorsal lip of blastopore

D. centere of embryo rotataion

Answer: A

Watch Video Solution

181. Orchidectomy is

A. surgical removal of testis

B. srugical removal of ovaries

C. inflammation of testis

D. non-descent of testes in scrotum

https://dl.doubtnut.com/l/_dWxKm0Ul9dHK
https://dl.doubtnut.com/l/_F7Y3a0yG65oo


Answer: A

Watch Video Solution

182. The female hormone that causes an increased in blood vessels in the

uterus and developments of milk glands in the breast is

A. luteinising hormone

B. follicle-stimulating hormone

C. oestrogen

D. progesterone

Answer: D

Watch Video Solution

183. The placenta dose not

https://dl.doubtnut.com/l/_F7Y3a0yG65oo
https://dl.doubtnut.com/l/_Q6V8ZOkKrSxS
https://dl.doubtnut.com/l/_rX7PuTGPZjY3


A. produce oestrogen and progesterone

B. exchange dissolved gases

C. supply nutrients

D. cause the embryo to implant itself

Answer: D

Watch Video Solution

184. Which of the these pairs is mismatched ?

A. Brain-Ectoderm

B. Gut-Endoderm

C. Bone-Mesoderm

D. Lens-Endoderm

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_rX7PuTGPZjY3
https://dl.doubtnut.com/l/_HJM2dDVq6FVH


185. Which of these pairs is mismatched ?

A. Cleavage -Cell division

B. Blastula-Gut formation

C. Gastrula-Three germ layers

D. Neurula -Nervous system

Answer: B

Watch Video Solution

186. A human embryo begins to implant when it is a blastula or has

approximately 100 cells. How old is the embryo at ths time ?

A. 12 hours

B. 2 days

C. 6 days

https://dl.doubtnut.com/l/_HJM2dDVq6FVH
https://dl.doubtnut.com/l/_ASY5l7xhW4ue
https://dl.doubtnut.com/l/_gfokOh2lQie5


D. 2 weeks

Answer: C

Watch Video Solution

187. The fertilisation cone, which pulls the spem int o the egg, is formed

from the

A. acrosome of the sperm

B. centriole of the sperm

C. vitelline layer of the egg

D. plasma membrane of the egg

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_gfokOh2lQie5
https://dl.doubtnut.com/l/_ujpvx8C5ihNK


188. Mesoderm proliferates from

A. trophoblast

B. cephalic end of embyronic acid

C. caudal end of embyronic acid

D. ectoderm of embyronic acid

Answer: C

Watch Video Solution

189. The fluid released from the vagina just prior to childbirth is

A. baby's accumulated urine

B. amniotic fluid

C. mother's plasma form the umbilical cord

D. baby's plasma from it foetal circulation

https://dl.doubtnut.com/l/_Y4ZoStJg928f
https://dl.doubtnut.com/l/_l9SJ2U0w4aEt


Answer: B

Watch Video Solution

190. Cleavage differs from mitosis because

A. in cleavage there is no growth phase

B. in cleaveage consumption of oxygen increases

C. in cleave nucleus-cytoplasmic ratio increases

D. All of the above

Answer: D

Watch Video Solution

191. Primary germ layers are

A. trophoblas, ectoder, mesoderm and endoderm

https://dl.doubtnut.com/l/_l9SJ2U0w4aEt
https://dl.doubtnut.com/l/_MmEVghUF4pQG
https://dl.doubtnut.com/l/_H7V8WP3eX9NR


B. endoderm, trophoectoderm and trophomesoderm

C. trophomesoderm and torophoectoderm

D. ectoderm, mesoderm and endoderm

Answer: D

Watch Video Solution

192. The function of bindin (a protein) in the acrosoma process is to

A. prevent more than one sperm from entering the egg

B. digest the vitelline layer

C. ensure that the egg is being fertilised by a sperm of the same

species

D. induce egg activation

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_H7V8WP3eX9NR
https://dl.doubtnut.com/l/_6ge0zKI4g6Ut


193. Why are contractions necessary during birth ?

A. So that the mother will now that the baby is about to arrive

B. vagina will expand to accept the baby

C. ovaries will know when to resume oocyte production

D. cervix will expand to let the baby through.

Answer: D

Watch Video Solution

194. Presumptive ectorderm is that d

A. layer which presemuably is ectoderm

B. layer which may or may not develop into ectoderm

https://dl.doubtnut.com/l/_6ge0zKI4g6Ut
https://dl.doubtnut.com/l/_za4Ncy8j7i8s
https://dl.doubtnut.com/l/_GWRoVpC9QBRz


C. area around the margin of the blastoproe which rolls into the

interior of the embryo thus, formaing the lining of primitive gut

D. None of the above

Answer: C

View Text Solution

195. In human , the foetus

A. has four extraembryonic membranes

B. has developed organs and is recognisably human

C. is dependent upon the placenta for excretion of wastes and

acquisition of nutrients

D. All of the above

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_GWRoVpC9QBRz
https://dl.doubtnut.com/l/_cH8TSb4Vo9nW


196. In human, the placenta develops from the chorin. This indicates that

human dvelopment.

A. resembles, that of the chick

B. is associated with extrraembryonic membranes

C. cannot be compared to the develoment of lowr animas

D. Both (a) and (b)

Answer: D

View Text Solution

197. What do you mean by the term sermiogenesis ?

A. Conversion of spermatids to sperms

B. Converstion of spermatogonium to spermatids

C. Fromation of spermatogonium

https://dl.doubtnut.com/l/_cH8TSb4Vo9nW
https://dl.doubtnut.com/l/_jykksHtDGknJ
https://dl.doubtnut.com/l/_2DcjQgUwOWQ0


D. Formation of secondary spermatocytes

Answer: A

Watch Video Solution

198. The female homone that cause deposition of fat in the breasts, and

hips , as well as growth of public hari, during puberty is

A. luteinising hormone

B. follicle-stimulating hormone

C. oestrogen

D. progesterone

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_2DcjQgUwOWQ0
https://dl.doubtnut.com/l/_O2md9kojOJyi


199. Which of correct ?

A. Fertilisation occurs in Fallopian tube

B. Fertilisation in physico-chemical events

C. Cleavage leads to increases mass of protoplasm

D. Cleavage produces morula

Answer: B

Watch Video Solution

200. Type of cleavage in an egg is determined by

A. amount and distribuation of yolk

B. number of egg membranes

C. size and location of nucleus

D. shape and size of sperm

https://dl.doubtnut.com/l/_2rh9wCeoRzbh
https://dl.doubtnut.com/l/_JNeUgbaLoX0V


Answer: A

Watch Video Solution

201. The initial step in the activation of ovum during process of

fertilisation is the

A. penetration of sperm in the egg

B. fertilizin-antifertilizin reaction

C. formationof the fertilisation cone

D. formation of fertilisation membrane

Answer: B

Watch Video Solution

202. Fertilisation is the fusion of

https://dl.doubtnut.com/l/_JNeUgbaLoX0V
https://dl.doubtnut.com/l/_28qq4UN4mPkW
https://dl.doubtnut.com/l/_mD4dqz7q6D2f


A. diploid spermatozoan with diploid ovum to form diploid zygote

B. haploid spermatozoan with diploid ovum to form diploid zygote

C. diploid spermatozoan with haploid ovum to form diploid zygote

D. haploid spermatozoan with haploid ovum to form diploid zygote

Answer: D

Watch Video Solution

203. Which is correct about human embryonic development ?

A. Cleavage division bring about considerable increase in mass of

protoplasm

B. In the second division, one of the two blastomeres usually divides a

little sooner than the second

C. With more cleavage division, the resultant blastomeres become

larger and larger

https://dl.doubtnut.com/l/_mD4dqz7q6D2f
https://dl.doubtnut.com/l/_BJQv6wL0ogiE


D. Cleave division result in hollow ball of cell called morula

Answer: B

Watch Video Solution

204. Correct sequence in development is

A. fertilisation  zygote  cleavage  morula  blastula 

gastrula

B. fertilisation zygote  blastula  morula  cleavage 

gastrula

C. fertilisation  cleavage  morula  zygote  blastula 

gastrula

D. cleavage  zygote  fertilisation  morula  blastula 

gastrula

Answer: A

→ → → → →

→ → → → →

→ → → → →

→ → → → →

https://dl.doubtnut.com/l/_BJQv6wL0ogiE
https://dl.doubtnut.com/l/_tAvIEtqyk1x1


Watch Video Solution

205. Vitellogenessis is the process of formation of

A. vitelline membrane around developing eg cells

B. yolk sac membrane around the yolk mass during the development

of reptiles and birds

C. yolk and its deposition within the growing oocyte of amphibians

D. archenteron around the egg cells

Answer: C

Watch Video Solution

206. Druring cleavage, size of

A. early embryo increases

B. early embryo decerase

https://dl.doubtnut.com/l/_tAvIEtqyk1x1
https://dl.doubtnut.com/l/_I0ezoYrmHyfK
https://dl.doubtnut.com/l/_3eypdtL2Rayq


C. resulting cells increases

D. resulting cells decreases

Answer: D

Watch Video Solution

207. Which one develops from endoderm?

A. Nervous system, urinary bladder and eye

B. Liver, connective tissue and heart

C. Liver, Spinal cord, Skin and brain

D. Liver, panceras and thymus/thyroid

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_3eypdtL2Rayq
https://dl.doubtnut.com/l/_vPCdOCSJz9TV


208. Gestation period is the duration:

A. between egg growth and ovulation

B. of fertilisation

C. between fertilisation and parturiation

D. between preparation of sex cells and fertilisation

Answer: C

Watch Video Solution

209. The ovary of a new born female baby may contain

A. one of few ova

B. one thousand to few thousands

C. about 10 thousands

D. 250000-500000 ova

https://dl.doubtnut.com/l/_0geyYmcRYTof
https://dl.doubtnut.com/l/_9jTMSe3V3VHl


Answer: D

Watch Video Solution

210. Corpus leteum in mammels occur in:

A. skin and act as a pain receptor

B. heart and initiates atrial contraction

C. ovaries and produced progesterone hormone

D. brain and connects the two cerbal hemispheres

Answer: C

Watch Video Solution

211. Sperm of animal species a cannot fertilise ovum of species b because

A. fetilizing of a and b are not compatible

https://dl.doubtnut.com/l/_9jTMSe3V3VHl
https://dl.doubtnut.com/l/_W5GSyKsYMxut
https://dl.doubtnut.com/l/_LYYtpRm6fVlP


B. antifertilizing of a and b are not compatibel

C. fertilizin of a and antiferrtilizin of b are not compatible

D. antifertilzin of a and fertilizin of b are not compatible

Answer: D

Watch Video Solution

212. Yellow corpus luteum occurs in a mammals in

A. heart toinitate hearbeat

B. skin of function as pain receptor

C. brain and connects cerebrla hemispheres

D. ovary for secretion of progesterone

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_LYYtpRm6fVlP
https://dl.doubtnut.com/l/_i2KnNAr6TgoS
https://dl.doubtnut.com/l/_6dejmw2pXKIQ


213. Polar bodies formed during the formation of oocytes are

A. smaller cells formed due to unequal meiosis of oocyte

B. structures which bud off during oogenesis

C. structures formed during spermatogenesis

D. daughter cells formed after mitosis

Answer: A

Watch Video Solution

214. Which is the correct sequence of egg layers from outside to inside ?

A. Radiata, proliferous and pellucida

B. proliferous, radiata and pellucida

C. Proliferous, yolk sac and radiata

D. None of the above

https://dl.doubtnut.com/l/_6dejmw2pXKIQ
https://dl.doubtnut.com/l/_hxrkrN37Oq3J


Answer: B

Watch Video Solution

215. What is true about cleavage in fertilized egg in humans?

A. Meroblastic

B. Starts when egg reaches uterus

C. Starts in Fallopian tube

D. It is identical to norma mitosis

Answer: C

Watch Video Solution

216. Which one is correct ?

A. Meiosis-I occurs in primary spermatocyte

https://dl.doubtnut.com/l/_hxrkrN37Oq3J
https://dl.doubtnut.com/l/_7btgECkkUawW
https://dl.doubtnut.com/l/_WDzPz7JoJRBh


B. meiosis-I occurs in secondary spermatocyte

C. Meiosis-I take place in spermatids

D. Meiosis-II occurs in spermatids

Answer: A

Watch Video Solution

217. For ovulation in reflex ovulators

A. coitus in necessary

B. coitus is necessary

C. plenty of food is not necessary

D. plenty of food is necessary

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_WDzPz7JoJRBh
https://dl.doubtnut.com/l/_5PS9TxzapVSw
https://dl.doubtnut.com/l/_ydomVNIbpVJh


218. Correct sequence of hormone secretion from beginning of

menstruation is

A. FSH, progesterone, oestrogen

B. oestrogen, FSH progesterone

C. FSH, oestrogen, progesterone

D. oestrogen, FSH, progesterone

Answer: C

Watch Video Solution

219. Which statement is incorrect for human female ?

A. Menstrual cycle take 28 days

B. Menopause occurs at  yrs

C. Mature egg is released during pregnancy

D. Age of puberty is12-13 years

44 − 55

https://dl.doubtnut.com/l/_ydomVNIbpVJh
https://dl.doubtnut.com/l/_EUiBjeQ0IGxO


Answer: C

Watch Video Solution

220. The function of mitochondria in sperm is

A. control the movement of sperm

B. provide energy for the movment of sperm

C. provide energy to nucleus

D. None of the above

Answer: B

Watch Video Solution

221. In man the sperms released from the testis take the following route

to reach the urethra

https://dl.doubtnut.com/l/_EUiBjeQ0IGxO
https://dl.doubtnut.com/l/_iIobyvloSPGt
https://dl.doubtnut.com/l/_V0BNyYfw8QoH


A. vasa efferentia, Bidder's canal. Uriniferous tubules and

nephrostome

B. vasa efferntia, epididymis, vas deferens and urethra

C. vasa effertntia, Bidder's canal. Nephrostome

D. vasa efferentia, collecting tubules and Bidder's canal

Answer: B

Watch Video Solution

222. Which of these pairs is mismatched ?

A. Interstitial cells - Testosterone

B. Seminiferous tobules - Sperm production

C. Vasa deferntia -Seminal fluid production

D. Urethra - Conducts sperm

Answer: C

https://dl.doubtnut.com/l/_V0BNyYfw8QoH
https://dl.doubtnut.com/l/_O2DZdulFPW8e


Watch Video Solution

223. Follicle Stimulating Horemone (FSH)

A. is secreted by females but not males

B. stimulates seminiferous tubules to produce sperm

C. secretion is controlled by Gonadotropic Releasing Hormone (GnRH)

D. Both (b) and (c)

Answer: D

Watch Video Solution

224. Oestrous phase is

A. resting phase of oestrous cycle

B. preparatory phase of oestrous cycle

C. phase of heat in oestrous cycle

https://dl.doubtnut.com/l/_O2DZdulFPW8e
https://dl.doubtnut.com/l/_G947UjbuLfCo
https://dl.doubtnut.com/l/_6tqMkqW6yjV4


D. degenerative phase in oestrous cycle

Answer: C

Watch Video Solution

225. Epididymis is

A. netword of sinuses between seminiferous tubules and vasa

efferentia

B. intermediate structure between rete testis and vasa efferentia

C. a long coiled tube between vasa efferentia and vas deferens

D. connection between vas deferens and seminal vesicle

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_6tqMkqW6yjV4
https://dl.doubtnut.com/l/_ursCFLKi2kGH


226. Glands of male reproductive system are

A. prostate and seminal vesicles

B. prostate, Bartholin's glands and corpus luteum

C. vestibular gland and Bartholin's glands

D. prostate, Cowper's glands and seminal vesicles

Answer: D

Watch Video Solution

227. The function of hyaluronidase is

A. to form cone of reception in egg

B. to puncture the vitelling membrane of egg

C. to inactivate the neighbouring sperms

D. None of the above

https://dl.doubtnut.com/l/_71FaAJ0bfKqB
https://dl.doubtnut.com/l/_f9XwsTIjdPEz


Answer: B

Watch Video Solution

228. Centrioles of sperm control

A. control movement of tall

B. maintain haploid number of chromosomes

C. help in fertilisation

D. None of the above

Answer: A

Watch Video Solution

229. Stages in menstrual cycle are

A. recovery and proliferative phase

https://dl.doubtnut.com/l/_f9XwsTIjdPEz
https://dl.doubtnut.com/l/_oLToWJ0195MU
https://dl.doubtnut.com/l/_l2COacZRxCxe


B. proliferative and secretory phase

C. proliferative, secretory and menstrual phase

D. recovery, secretory and phase of menstrual flow

Answer: C

Watch Video Solution

230. Menstrual cycle is controlled by 

A. Estrogen and progesterone of ovary 

B. FSH of pituitary 

C. FSH and LH of pituitary 

D. Oxytocin hormone

A. oestrogen and progesterone of ovary

B. FSH and LH of pituitary

C. FSH of pituitary

D. Both (a) and (b)

https://dl.doubtnut.com/l/_l2COacZRxCxe
https://dl.doubtnut.com/l/_nAMshtgLcsK2


Answer: D

Watch Video Solution

231. Vasa efferntia connect the

A. testis with epididymis

B. kidneys with cloaca

C. testes with urinogential ducts

D. None of the above

Answer: A

Watch Video Solution

232. Temperature in scrotum necessary for sperm formation should be

A.  above the body temperature2∘ C

https://dl.doubtnut.com/l/_nAMshtgLcsK2
https://dl.doubtnut.com/l/_JcU0NYN4EJl8
https://dl.doubtnut.com/l/_Yn11uz8Cgbda


B.  below the body tempreature

C.  above the body temperature

D.  below the body temperature

Answer: B

Watch Video Solution

2∘ C

7∘ C

7∘ C

233. Which one of the following statements with regard to embryonic

development in humans is correct?

A. Cleavage division bring about condisderable increase in the mass of

protoplasm

B. In the second cleavage division, one of the two blastomeres usually

divides a little sooner than the second

C. Whit more cleavge divisions, the resultant blastomeres become

larger and larger

https://dl.doubtnut.com/l/_Yn11uz8Cgbda
https://dl.doubtnut.com/l/_umCqgStSdiGC
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D. Cleavage division results in a bollow ball of cells called morula

Answer: C

Watch Video Solution

234. The role of Leydig cells of testis is

A. to provide nourishment to sperms

B. synthesis of testosterone hormone

C. to proivde motility to sperm

D. to bring about maturation of sperms

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_umCqgStSdiGC
https://dl.doubtnut.com/l/_ArgFguLKaZ0I
https://dl.doubtnut.com/l/_DFUiu4rMiPNh


1. Which of the following is true about mammalian placenta? 

I. It acts as endocrine gland. 

II. It secretes relaxin hormone which faciliates parturition. 

III. It secretes chorionic gonadotrophin. 

IV. It hepls in mixing of foetal and maternal blood.

A. I, II and IV

B. I, IV and III

C. II, III and IV

D. I, II and III

Answer: D

Watch Video Solution

2. Which of the following statement is correct? 

I. Teleost sperms have acrosome. 

II. Acrosome does not have nucleus. 

https://dl.doubtnut.com/l/_DFUiu4rMiPNh
https://dl.doubtnut.com/l/_MtGPXoz5YUll


III. Acrosome of sperm contains sperm lysins. 

IV. Spirally arranged mitochondria are found in the mid-piece of sperm.

A. I and IV

B. III and IV

C. I and II

D. II,III and IV

Answer: B

Watch Video Solution

3. Menstrual cycle is controlled by 

I. androgens from Leydig cells. 

II. FSH and LH of pituitary. 

III. Oxytoxin hormone. 

IV. Oestrogen and progesterone of ovary.

A. I, III and IV

https://dl.doubtnut.com/l/_MtGPXoz5YUll
https://dl.doubtnut.com/l/_XBxx19oGYyv1


B. I and II

C. I and III

D. II and IV

Answer:

Watch Video Solution

4. Which of the following statement is false regarding spermatogenesis? 

I. It starts at puberty due to increase in GnRH. 

II. LH helps in synthesis of androgens which stimulates spermatogenesis. 

III. Inhibin is requried for FSH synthesis. 

IV LH acts on Leyding cells for secrtion of androgens.

A. Only IV

B. I and II

C. Only III

D. I, II and IV

https://dl.doubtnut.com/l/_XBxx19oGYyv1
https://dl.doubtnut.com/l/_9aLKFkOkL51C


Answer: C::D

Watch Video Solution

5. Which of the following is a part of mammalian male reproduction

system? 

I. Vas deferens II. Cowper's gland 

III. Brtholin's gland IV Fallopin tube

A. I, II and III

B. II, III and IV

C. I and II

D. III and IV

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_9aLKFkOkL51C
https://dl.doubtnut.com/l/_QEaGOULfFaSa


6. Correctly matched pairs are: 

1. Clitoris -Erectile body in the female homologus to glans penis of male 

2. Sexual intercourse - Coitus 

3. Colostrum - Secretion found in seminal fluid 

4. Areola - Pigmented circular area around the nipple

A. II and III

B. III and IV

C. I and IV

D. II and IV

Answer: A

Watch Video Solution

7. Seminal fluid consists of 

I. spermatozoa II. Spermatids 

https://dl.doubtnut.com/l/_sty4LwSO6kQk
https://dl.doubtnut.com/l/_mBdGF9Oe10bl


spermatogoina IV. seminal fluid 

Select the correct answer using the codes given below.

A. Only I

B. Only III

C. I and IV

D. I and II

Answer: C

Watch Video Solution

8. Assertion Sertoli cells are being involved in the process of

spermatogenesis. 

Reason Nutrition of developing sperms is provided by Sertoli cells.

A. Both Assertion and Reason true and Reason is the correct

explanation of Assertion

https://dl.doubtnut.com/l/_mBdGF9Oe10bl
https://dl.doubtnut.com/l/_pSVrcto4CIXS


B. Both Assertion and Reason are true, but Reason is not the correct

explanation of Assertion

C. Assertion is true, but Reason is false

D. Assertion is false, but Reason is true

Answer: A

Watch Video Solution

9. Assertion Each primary spermatocyte cell gives rise to four secondary

spermatocyte cells. 

Reason Primary spermatocytes are formed through reduction division.

A. Both Assertion and Reason true and Reason is the correct

explanation of Assertion

B. Both Assertion and Reason are true, but Reason is not the correct

explanation of Assertion

C. Assertion is true, but Reason is false

https://dl.doubtnut.com/l/_pSVrcto4CIXS
https://dl.doubtnut.com/l/_hIdYSj4FZXhr


D. Both Assertion and Reason are false

Answer:

Watch Video Solution

10. Assertion Scrotum is a pouch in which testes are held. 

Reason A pocketed sac of the abdominal cavity or pelvic cavity holds

testes.

A. Both Assertion and Reason true and Reason is the correct

explanation of Assertion

B. Both Assertion and Reason are true, but Reason is not the correct

explanation of Assertion

C. Assertion is true, but Reason is false

D. Assertion is false, but Reason is true

Answer: B

https://dl.doubtnut.com/l/_hIdYSj4FZXhr
https://dl.doubtnut.com/l/_flXw08PrzQ9U


Watch Video Solution

11. Assertion Generally, sperm cells are larger than agg cells. 

Reason Spermatozoa consists of acrosome and mitochondria.

A. Both Assertion and Reason true and Reason is the correct

explanation of Assertion

B. Both Assertion and Reason are true, but Reason is not the correct

explanation of Assertion

C. Assertion is true, but Reason is false

D. Assertion is false, but Reason is true

Answer: B

Watch Video Solution

12. Assertion First meiotic division in primary oocytes results in the

formation of two equal sized cells. 

https://dl.doubtnut.com/l/_flXw08PrzQ9U
https://dl.doubtnut.com/l/_RYLhbnMnzboh
https://dl.doubtnut.com/l/_74dpZYcdA3Hh


Reason Both of these cells are equally functional.

A. Both Assertion and Reason true and Reason is the correct

explanation of Assertion

B. Both Assertion and Reason are true, but Reason is not the correct

explanation of Assertion

C. Assertion is true, but Reason is false

D. Both Assertion and Reason are false

Answer:

Watch Video Solution

13. Assertion Only a single functional female gamete is formed from each

primary oocyte cell. 

Reason Meiosis in each primary oocyte gives rise to only one cell which

functions as ovum.

https://dl.doubtnut.com/l/_74dpZYcdA3Hh
https://dl.doubtnut.com/l/_5b4JoZp2ARhB


A. Both Assertion and Reason true and Reason is the correct

explanation of Assertion

B. Both Assertion and Reason are true, but Reason is not the correct

explanation of Assertion

C. Assertion is true, but Reason is false

D. Assertion is false, but Reason is true

Answer: A

Watch Video Solution

14. Assertion A chemical substance fertillizin is present in eggs. 

Reason It helps in maturation of embryo after fertilisation.

A. Both Assertion and Reason true and Reason is the correct

explanation of Assertion

https://dl.doubtnut.com/l/_5b4JoZp2ARhB
https://dl.doubtnut.com/l/_zN5HYjSbXuwy
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B. Both Assertion and Reason are true, but Reason is not the correct

explanation of Assertion

C. Assertion is true, but Reason is false

D. Assertion is false, but Reason is true

Answer: C

Watch Video Solution

1. Fertilisation in humans is practically feasible only if

A. the ovum and sperms are transported simultaneously to ampullary

isthmic junction of the Fallopian tube

B. the ovum and sperms are transported simultaneously to ampullaryi

isthmic junction of the cervix

https://dl.doubtnut.com/l/_zN5HYjSbXuwy
https://dl.doubtnut.com/l/_4RkDoxyD2ToU


C. the sperm are transported into cervix within 48 hrs of released of

ovum in uterus

D. the sperms are transported into cervix just after the release of

ovum in Fallopian tube

Answer: A

Watch Video Solution

2. Select the incorrect stateament.

A. LH and FSH triggers ovulation in ovary

B. LH and FSH decrease gradually during the follicular phase

C. LH triggers secretion of androgens from the Leydig cells

D. FSH stimulates the Sertoli cells which help in spermatogenesis

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_4RkDoxyD2ToU
https://dl.doubtnut.com/l/_rSi91qpcXJ8T


3. Identify the correct statement on 'inhibin'.

A. It is produced by granulsoa cells in ovary and inhibits the secretion

of FSH

B. It is produced by granulosa cells in ovary and inhibits the secretion

of LH

C. It is produced by nurse cells in testes and inhibits the secretion of

LH

D. It inhibits the secertion of LH, FSH and prolactin

Answer: A

Watch Video Solution

4. Which of the following depicts the correct pathway of transport of

sperms?

https://dl.doubtnut.com/l/_rSi91qpcXJ8T
https://dl.doubtnut.com/l/_SpIFpkmrRXC0
https://dl.doubtnut.com/l/_ME8O4W5RjRHI


A. Rete testis  Efferent ductles  Epididymis  Vas deferens

B. Rete testis  Epididuymis  Efferent ductules  Vas

deferens

C. Rete testis  Vas deferens  Efferent ductules  Epididymis

D. Efferent ductules  Rete testis  Vas deferens  Epididymis

Answer: A

Watch Video Solution

→ → →

→ → →

→ → →

→ → →

5. Several hormones like hCG, hPL, estrogen, progesterone are produced

by

A. ovary

B. placenta

C. Fallopian tube

D. pituitary

https://dl.doubtnut.com/l/_ME8O4W5RjRHI
https://dl.doubtnut.com/l/_7jFQzsQ2vbvX


Answer: B

Watch Video Solution

6. The hormone which acts on Sertoli cells and stimulates the process of

spermaogenesis is :

A. GnRH

B. androgen

C. FSH

D. LH

Answer: D

Watch Video Solution

7. During menstrual cycle, the cyclical changes take place in:

https://dl.doubtnut.com/l/_7jFQzsQ2vbvX
https://dl.doubtnut.com/l/_pB6b01aeNNmg
https://dl.doubtnut.com/l/_jIbSCvquYV4V


A. perimetrium

B. endometrium

C. corpus luteum

D. myometrium

Answer: B

Watch Video Solution

8. Identify the complete and correct sequence in the passage of

spermatozoa.

A. Seminiferous tubules  Rete testis  Vasa efferentia  Vas

deferens  Epididymis  Ejaculatory duct  Urethra 

Vagina of female

B. Seminifereous tubules  Rete testis  Vasa efferentia 

Epididymis  Vas deferens  Ejaculatory duct  Urethra 

→ → →

→ → → →

→ → →

→ → → →

https://dl.doubtnut.com/l/_jIbSCvquYV4V
https://dl.doubtnut.com/l/_lKS1K0qYJDTE


Vagina of female

C. Seminiferous tubules  Rete testis  Vasa efferentia 

Epididymis  Urethra  Vagina of female

D. Seminiferous tubules  Rete testis  Vasa efferentia 

Ejaculatory duct  Vagina of female

Answer: B

Watch Video Solution

→ → →

→ →

→ → →

→

9. Which one of the following hormones is responsible for uterine

contraction during parturition?

A. relaxin

B. Vasopressin

C. Oxytocin

D. Prolactin

https://dl.doubtnut.com/l/_lKS1K0qYJDTE
https://dl.doubtnut.com/l/_oXalZlmJ7JFT


Answer: C

Watch Video Solution

10. Which one of the following is not the function of placenta?

A. It secretes oestrogen

B. It facilitates removal of carbon dioxide and waste material from

embryo

C. It secretes oxytocin during parturition

D. It faciliates s upply of oxygen and nutrients to embryo

Answer: C

Watch Video Solution

11. What is the correct sequence of sperm formation?

https://dl.doubtnut.com/l/_oXalZlmJ7JFT
https://dl.doubtnut.com/l/_reoc5V3tGXFu
https://dl.doubtnut.com/l/_YxQojGqkVZnN


A. Spermatogonia, Spermatocyte, Spermatozoa, Spermatid

B. Spermatogonia, Spermatozoa, Spermatocyte, Spermatid

C. Spermatogonia, Spermatocyte, Spermatid, Spermatozoa

D. Spermatid, Spermatocyte, Spermatogonia, Spermatozoa

Answer: C

Watch Video Solution

12. Menstrual flow occurs due to lack of

A. FSH

B. oxytocin

C. vasopressin

D. progesterone

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_YxQojGqkVZnN
https://dl.doubtnut.com/l/_MXx7UpgNiqbn


13. Secretion of which of the folllowing structures prepares inner wall of

uterus for implantation?

A. Ovary

B. Pituitary gland

C. corpus luteum

D. Ovarian follicle

Answer: C

Watch Video Solution

14. Withdrawal of which of the following hormones is the immediate

cause of menstruation?

A. Oestrogen

B. FSH

https://dl.doubtnut.com/l/_MXx7UpgNiqbn
https://dl.doubtnut.com/l/_rjNzw6cEqsBO
https://dl.doubtnut.com/l/_uHFHbmyY89Rp


C. FSH-RH

D. Progesterone

Answer: D

Watch Video Solution

15. which one of the following statements is false in respect of viability of

mammalian sperm ?

A. Sperm is viable for only up to 24 hrs

B. Survival of sperm depends on the pH of the medium and is more

active in alkaline medium

C. Viability of sperm is detemined by its motility

D. Sperms must be concetrated in a thick su spension

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_uHFHbmyY89Rp
https://dl.doubtnut.com/l/_ZIMeOtcK6Ncq


16. Signals for parturition originate from

A. both placenta as well as fully developed foetus

B. oxytocin released form maternal pituitary

C. placenta only

D. fully developed foetus only

Answer: A

Watch Video Solution

17. In a normal pregnant woman, the amount of total gonadotropin

activity was assessed. The result expected was

A. high level of circulation FSH and LH in the uterus to stimulate

implantation of the embryo

B. high level of circulating hCG to stimulate endometrial thickening

https://dl.doubtnut.com/l/_ZIMeOtcK6Ncq
https://dl.doubtnut.com/l/_cH4UE6dBP4dt
https://dl.doubtnut.com/l/_zydAEQdGtWwF


C. high levels of FSH and LH in uterus to stimulate endometrial

thickening

D. high level of circulating hCG to stimulate oestrogen and

progestrone synthesis

Answer: D

Watch Video Solution

18. Uterine endometrium, uterine glands and connective tissue are broken

during menstrual phase. That is due to:

A. over secretion of FSH

B. lack of oestrogen

C. lack of progesterone

D. over production of progestrone

Answer: C

https://dl.doubtnut.com/l/_zydAEQdGtWwF
https://dl.doubtnut.com/l/_mWbfm2aWzLQB


Watch Video Solution

19. Sertoli cells are regulated by the pituitary hormone known as

A. FSH

B. GH

C. Prolactin

D. LH

Answer: A

Watch Video Solution

20. Which of the following hormones is not a secretory product of human

placenta?

A. Human chorionic gonadotropin

B. Prolactin

https://dl.doubtnut.com/l/_mWbfm2aWzLQB
https://dl.doubtnut.com/l/_i31WDrWKtehW
https://dl.doubtnut.com/l/_GTWsEgZV6thO


C. Oestrogen

D. Progesterone

Answer: B

Watch Video Solution

21. If for some reason, the vesa effeerentia in the human reproductive

system get blocked, the gametes will not transported from

A. epididymis to vas deferens

B. ovary to uterus

C. vagina to uterus

D. testes to epididymis

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_GTWsEgZV6thO
https://dl.doubtnut.com/l/_m0zfLrib57f3
https://dl.doubtnut.com/l/_Qq2heMhm8tJ9


22. The testes in humans are situated outside the abdominal cavity inside

a pouch called scrotum. The purpose served is for

A. escaping any possible sompression by the visceral organs

B. providing more space for the growth of epididymis

C. providing a secondary sexual feature for exhibting the male sex

D. maintaining the scrote temperature lower than the internal body

temperature

Answer: D

Watch Video Solution

23. The main function of the fimbriae of the Fallopian tube in females is

to:

A. release to ovum from the Grafian follice

B. make necessary changes in the endometrium for implanation

https://dl.doubtnut.com/l/_Qq2heMhm8tJ9
https://dl.doubtnut.com/l/_QOAkUHGwEjMQ


C. help in the development of corpus lucteum

D. help in the collection of the ovum after ovulation

Answer: D

Watch Video Solution

24. At the time of implanation, the human embyro is called

A. embryo

B. blastocyst

C. zygote

D. foetus

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_QOAkUHGwEjMQ
https://dl.doubtnut.com/l/_g5jovvpe4Bkq


25. Which of the following organs is devoid of glands?

A. uterus anteriorly

B. Vagina

C. Vulva

D. Oviduct

Answer: D

Watch Video Solution

26. Corpus luteum releases

A. oestrogen

B. progestrone

C. androgen

D. Booth (a)and (b)

https://dl.doubtnut.com/l/_zWP9ELHlFFzk
https://dl.doubtnut.com/l/_nWvNNHOT1ilc


Answer: B

Watch Video Solution

27. Primary spermatocyte differs from spermatogonium in

A. number of chromosomes

B. size and volume

C. DNA content

D. size of chromosomes

Answer: A

Watch Video Solution

28. In humans, cleavage divisions are

A. slow and synchronous

https://dl.doubtnut.com/l/_nWvNNHOT1ilc
https://dl.doubtnut.com/l/_kB0P2lsQcmDW
https://dl.doubtnut.com/l/_3j2eZqtolLpa


B. fast and synchronous

C. slow and asynchronous

D. fast and asynchrounous

Answer: A

Watch Video Solution

29. Number of autosomes in human primary spermatocyte is

A. 46

B. 44

C. 23

D. 22

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_3j2eZqtolLpa
https://dl.doubtnut.com/l/_3OrXOTXgDLNj
https://dl.doubtnut.com/l/_5AqJgOJAKkHd


30. Sperm acrosome is derived from

A. Golgi bodies

B. endoplasmic reticulum

C. lysosome

D. mesosome

Answer: A

Watch Video Solution

31. In human beings, normally in which one of the following, parts does

the sperm fertilise the ovum ?

A. Cervix

B. Fallopian tube

C. Lower part of uterus

D. Upper parts of uterus

https://dl.doubtnut.com/l/_5AqJgOJAKkHd
https://dl.doubtnut.com/l/_rMNu1qJ99VMG


Answer: B

Watch Video Solution

32. The best definition of the process of gastrulation is that it is a process

where the

A. single layered blastula becomme two layered

B. archenteron is formed

C. zygote gets converted into larva

D. cells move to occupy their definite position

Answer: D

Watch Video Solution

33. Sertoli cells are found in

https://dl.doubtnut.com/l/_rMNu1qJ99VMG
https://dl.doubtnut.com/l/_eBGAS7LbExxv
https://dl.doubtnut.com/l/_4MlW17yabtMX


A. overies and serete progesterone

B. adernal cortex and secrete adrenaline

C. seminiferous tubules and provide nutrition of germm cells

D. pancreas and seceret choloecystokinin

Answer: C

Watch Video Solution

34. Which one of the following statements about human sperms is

correct?

A. Acrosome has a conicla pointed structure used for piercing and

penetrating the egg, resulting in fetilisation

B. The sperm lysins in the acrosom dissolve the egg envelope

facilitating fertilisation

https://dl.doubtnut.com/l/_4MlW17yabtMX
https://dl.doubtnut.com/l/_ScdXEwLtXP2D


C. Acrosome serves as a sensory struture leading the sperm towards

the ovum

D. Acrosome serves no particular function

Answer: B

Watch Video Solution

35. Vasa efferentia are the ductules leading from:

A. testicular lobules to rete testes

B. rete testes to vas deferens

C. vas deferens to epididymis

D. epididymis to urethra

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ScdXEwLtXP2D
https://dl.doubtnut.com/l/_e1RISqzYGn1Z
https://dl.doubtnut.com/l/_KfAr4JoiFSp5


36. The part of Fallopian tube closest to the ovary is:

A. isthmus

B. infundibulum

C. cervix

D. ampulla

Answer: B

Watch Video Solution

37. In humans, at the end of the first meiotic division, the male germ cells

differentiate into the

A. primary spermatocytes

B. secondary spermatocytes

C. spermatids

D. spermatogonia

https://dl.doubtnut.com/l/_KfAr4JoiFSp5
https://dl.doubtnut.com/l/_nN5LrRKQCxa7


Answer: B

Watch Video Solution

38. The middle piece of the sperms contains

A. proteins

B. centroile

C. nucleus

D. mitochondria

Answer: D

Watch Video Solution

39. After ovulation, Graafian follicle forms

A. Corpus luteum

https://dl.doubtnut.com/l/_nN5LrRKQCxa7
https://dl.doubtnut.com/l/_8Wiu4D4s3D4Y
https://dl.doubtnut.com/l/_55M3CrExwGdE


B. corpus callosum

C. corpus albicans

D. corpus arteria

Answer: A

Watch Video Solution

40. Which one of the following is the most likely reason of not occurring

regular menstruation cycle in females?

A. Fertilisation of the ovum

B. Maintenane of the hypertrophical endometrial lining

C. Maintene of high concentration of sex-hormoes in the blood stream

D. Retention of well-developed corpus lucteum

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_55M3CrExwGdE
https://dl.doubtnut.com/l/_iMigJasMHHcH


41. In humans the oocyte is maintained in a state of meiotic arrest by the

secretion of

A. granulosa cells

B. zona pellucida

C. cumulus oophorus

D. theca

Answer: A

Watch Video Solution

42. Human chorionin gonadotropin is secreted by

A. chorion

B. amnion

C. copus luteum placetna

https://dl.doubtnut.com/l/_iMigJasMHHcH
https://dl.doubtnut.com/l/_0cD4i69B2gzZ
https://dl.doubtnut.com/l/_gKG7L7VeZiar


D. placenta

Answer: D

Watch Video Solution

43. In human the unpaired male reproductive structure is

A. seminal vesicle fluid

B. porstate

C. bylbourethral gland

D. testes

Answer: B

Watch Video Solution

44. Bartholin's glands are situated

https://dl.doubtnut.com/l/_gKG7L7VeZiar
https://dl.doubtnut.com/l/_CB88XonNX6Uz
https://dl.doubtnut.com/l/_eNh7lS88ygEl


A. on either side of vagina in human in human

B. on either side of v as deferens in humans

C. on the sides of the head of some amphilbians

D. at the reduced tail end of birds

Answer: A

Watch Video Solution

45. The parts of male urethra are

A. Corpora caveronsa, ventral corpus spongiosum

B. prostatic, membranous and penile

C. seminal, vesicles, prostate and Cowper's glands

D. prostate, bulbourethral and Cowper's gland

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_eNh7lS88ygEl
https://dl.doubtnut.com/l/_9c1ktvJaYOKl


46. Formation of corpus luteum is infulenced by

A. LH and FSH

B. FSH

C. Progesterone

D. PRL

Answer: A

Watch Video Solution

47. The cavity contained in Graafian follicle is

A. ventrocoel

B. anterum

C. blastocoel

https://dl.doubtnut.com/l/_9c1ktvJaYOKl
https://dl.doubtnut.com/l/_k3WYW78VF9mx
https://dl.doubtnut.com/l/_Sznt5gg7t92T


D. archetreron

Answer: B

Watch Video Solution

48. Human sperm cells move by means of a

A. cillium

B. flagellum

C. basal body

D. hair

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Sznt5gg7t92T
https://dl.doubtnut.com/l/_7togrHdKDW1b


49. In oogenesis, when a diploid cell in the ovary undergoes, meiosis, how

many ova results ?

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

50. Vapaciotation of sperm in mammals involves

A. sperm size change

B. acrosome reaction

C. nuelear chromatin change

D. mitochondrial alignment

https://dl.doubtnut.com/l/_o4BCmVuEjI5p
https://dl.doubtnut.com/l/_CJTfnTe31E0L


Answer: B

Watch Video Solution

51. Assertion (A) Generally, a woman do not conceive during lactation

period. 

Reason (R)the hormone prolactin initiates and maintains lacation in a

woman.

A. Both A and R true and R the is the correct explanation of the A

B. Both A and R true but R the is not the correct explanation of the A

C. A is true, but R is false

D. Both A and R are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_CJTfnTe31E0L
https://dl.doubtnut.com/l/_99QnlSOrjc6l


52. Which hormone is secreted in a womane if pregnancy has occurred ?

A. Oestrogen

B. Progesterone

C. Luteinising hormone

D. Chorionic gonadotropin

Answer: D

Watch Video Solution

53. The chemical substance released by activated spermatozoa that acts

on the ground substances of the follicle cells is known as

A. progesterone

B. hyaluronidase

C. relaxin

D. gonadotropin

https://dl.doubtnut.com/l/_kQv7Bt1DvliN
https://dl.doubtnut.com/l/_1VD1cIiF7P7i


Answer: B

Watch Video Solution

54. Which one of the following is the correct matching of the events

occurring during mentrual cycle?

A. 

B. 

C. 

D. 

Answer: C

h id l i

Ovulation −FH and FSH attain peak level and sharp fall in the sere

Proliferative −Rapid regeneration of myometrium and maturation o

Development of −secretory  phase and increased secretion of progest

Menstruation −Breakdown of myometrium and ovum not fertilised

https://dl.doubtnut.com/l/_1VD1cIiF7P7i
https://dl.doubtnut.com/l/_qUoN8OKCMm5N


Watch Video Solution

55. Seminal plasma in humans is rich in

A. fructose, calcium and certaiin enzymes

B. fructose and caclium but has no enzymes

C. glucose and certain enzymes but has no calcium

D. fructose and certain enzymes but poor in calcium

Answer: A

Watch Video Solution

56. Foetal ejection reflex in human female is induced by

A. pressure exerted by amniotic fluid

B. released of oxytocin from pituitary

C. fully developed foetus and placenta

https://dl.doubtnut.com/l/_qUoN8OKCMm5N
https://dl.doubtnut.com/l/_wO7hHowQceWk
https://dl.doubtnut.com/l/_cViyGNUjgfwc


D. differentiation of mammary glands

Answer: B

Watch Video Solution

57. A change in the amount of yolk and its distribution in the egg will

affect.

A. formation of zygote

B. pattern of cleavage

C. number of blastomeres prodced

D. fertilisation

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_cViyGNUjgfwc
https://dl.doubtnut.com/l/_W3cYByEfBQrm


58. Embryo at 16-celled stage is called

A. Morula

B. gastrula

C. blastula

D. blastomere

Answer: A

Watch Video Solution

59. Notochord, skeletal system and dermis of the skin are the derivatives

of

A. mesoderm

B. endorderm

C. ectoderm

D. All of these

https://dl.doubtnut.com/l/_O84BD7XtGBqx
https://dl.doubtnut.com/l/_h7VTKlFkfsLa


Answer: A

Watch Video Solution

60. Accessory sexual charater in female is promoted by :-

A. androgen

B. progesterone

C. Oestrogen

D. Testosterone

Answer: C

Watch Video Solution

61. Bartholin's glands of female correspond to which gland in male?

A. Cowper's glands

https://dl.doubtnut.com/l/_h7VTKlFkfsLa
https://dl.doubtnut.com/l/_l2qmS69KHVjE
https://dl.doubtnut.com/l/_YHw4e4qmmsa1


B. inguinal glands

C. Rectal glands

D. Prostate galands

Answer: A

Watch Video Solution

62. Corpus spongiosum occurs in

A. ovary penis

B. penis

C. testis

D. uterine wall

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_YHw4e4qmmsa1
https://dl.doubtnut.com/l/_J7NtGDFqqthC
https://dl.doubtnut.com/l/_9hHwPXvWSf6n


63. Cytoplasm of ovum does not contain:

A. Golgi complex

B. centrosomes

C. mitochondria

D. ribosomes

Answer: B

Watch Video Solution

64. Fertilization of sperm and ova takes place in:

A. ampulla of oviduct

B. ampullary-isthmus of oviduct

C. fimbrae of oviduct

D. None of the above

https://dl.doubtnut.com/l/_9hHwPXvWSf6n
https://dl.doubtnut.com/l/_dt1OGw1Fxv1v


Answer: B

Watch Video Solution

65. Which germ layer developes first during embryonic development?

A. Ectoderm

B. Mesdoderm

C. Endoderm

D. Both (b) and (c)

Answer: C

Watch Video Solution

66. Terms paras is used for

A. virgin women

https://dl.doubtnut.com/l/_dt1OGw1Fxv1v
https://dl.doubtnut.com/l/_GH0pnijHdiNO
https://dl.doubtnut.com/l/_1JNBJTACWOdb


B. infertile women

C. fertile women

D. old aged women

Answer: C

Watch Video Solution

67. Layers of an ovum from outside to inside is

A. corona radiata, zona pellucida and vitelline membrane

B. zona pellucida, corona rediata and vitelline memebrane

C. vitelline membrane, zona pellucida and corona radiata

D. zona pellucida, vitelline memnrane and corona radiata

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_1JNBJTACWOdb
https://dl.doubtnut.com/l/_ZgnfjoUrkY5h
https://dl.doubtnut.com/l/_TjCiEkpRA3OH


68. Which part of ovary in mammals acts as an endocrine gland after

ovulation ?

A. Graffian fallicle

B. Stroma

C. germinal epithelium

D. Vitelline embrane

Answer: A

Watch Video Solution

69. The embrtyonic membrane involved in the fomration of placement in

female is

A. yolk sac

B. allantois

C. amnion

https://dl.doubtnut.com/l/_TjCiEkpRA3OH
https://dl.doubtnut.com/l/_OQMdooSoy7dI


D. chorion

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_OQMdooSoy7dI

